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 Introduction
________________________________________________________________________

· The textbook is organized into six parts.  
· The first five chapters focus on principles and concepts of economic development. Chapters 6-7 examine income distribution, including a discussion of the distribution between urban and rural areas and the process of agricultural transformation. 
· Chapters 8-13 analyze the role of population, production factors, and technology in economic development, with special emphasis in Chapter 13 on the environment and natural resources. 
· Chapters 14-17 discuss the macroeconomics and international economics of development. 
· Chapter 18 looks at planning for economic development, and Chapter 19 analyzes stabilization, adjustment, reform, and privatization.

Fill-in Questions
Davos




___________________________________
International Monetary Fund

___________________________________
less developed countries (LDCs)
___________________________________
policy cartel



___________________________________
Porto Alegre



___________________________________
World Bank



___________________________________
World Economic Forum

___________________________________
World Social Forum


___________________________________
Multiple-Choice Questions

1.  Which of the following are not third-world regions? 

a. Latin America.

b. Asia.

c. Africa.

d. Australia.

2.  Which of the following countries are not newly industrialized countries (NICs)? 

a. Taiwan.

b. North Korea.

c. Singapore.

d. Hong Kong.

3.  Which country is not a transitional economy

a. China.

b. Russia.

c. Hungary.

d. Mexico. 

4.  Development economics focuses primarily on the poorest ___________ of the world's a. population.

b. two-thirds.

c. one-third.

d. 28 percent.

e. 5 percent.

5.  The poorest region of the world is

a. the Middle East.

b. sub-Saharan Africa.

c. Asia.

d. Latin America.

6.  Of the world's population, what portion lives in developing countries?

a. approximately 35%.

b. approximately 80%.

c. nearly 10 billion people.

d. less than 1 billion people.

7.  In which of the following countries would you expect material lifestyles to be most like those in the United States?

a. Nigeria.

b. Japan.

c. India.

d. Mali.

8.  Compared to the income of the family of Balayya discussed in the text, the Smiths' family income was roughly

a. twice as large.

b. 10 to 12 times as large.

c. 200 times larger.

d. -three-fourths as large.

9.  Which of the following could be considered critical questions in development economics?

a. How do the poorest 2/3 of the world live?

b. What are the major theories of economic development?

c. What factors affect labor skills in the third world?

d. all of the above are correct.

10.  Which of the following characteristics are most likely found in developing countries?

a. high population growth rates.

b. large number of people living in poverty.

c. very traditional methods of agricultural production.

d. all of the above

e. none of the above

11.  Which of the following could not be considered a major economic system?

a. capitalism.

b. communism.

c. socialism.

d. physical quality of life index.

e. none of the above.



The Meaning and Measurement of 

                                         Economic Development
________________________________________________________________________

· Economic growth is an increase in a country's per capita output. 
· Economic development is economic growth leading to an improvement in the economic welfare of the poorest segment of the population or changes in educational level, output distribution, and economic structural change.

· Although economists classify countries by income category, rankings by measures of the level of economic welfare form a continuum rather than a dichotomy.

· The third world of Africa, Asia, and Latin America is very diverse, ranging from the least developed countries with a low per capita income and little industrialization to  newly industrializing countries.

· The GNP of LDCs is understated relative to that of the United States because LDCs have a higher portion of output sold outside the marketplace, a smaller share of intermediate goods in their GNP, and a large percentage of labor intensive, unstandardized goods having no impact on the exchange rate. 
· The per capita GNP of LDCs relative to the United States increases by one and one half to more than four times when adjustments are made for purchasing power. 
· Purchasing-power parity national income data are preferable, when available, because they are a more accurate reflection of relative welfare. 

· Per capita GNP is an imperfect measure of average economic welfare in a country. For example, social indicators, such as the UNDP’s Human Development Index (HDI), suggest that Chile and Poland have done better in meeting the basic needs of the majority of its people than South Africa, which has roughly the same average income level. 
· The Gender Development Index (GDI), which adjusts HDI for gender inequality, does better in reflecting the adverse effect of gender disparities on social progress. 

· Economists who emphasize basic needs stress providing food, housing, health, sanitation, water, and basic education in LDCs, especially for low income groups. However, despite the view that these needs are rights, resources may be too limited in LDCs to guarantee their fulfillment.

· Some economists wish to substitute the goal of liberation, or freedom from external economic and political control, for that of economic development, which they understand as implying economic growth dependent on Western techniques, capital, institutions, and consumer goods. However, the countries they choose as examples fall far short of the liberation they espouse.

· Amartya Sen contends that freedom of choice is the ultimate goal of economic life. The relationship between incomes and achievements and between wealth and satisfaction with life may be weak, depending on factors other than income. 

Fill-in Questions

Apartheid




___________________________
Asian tigers 




___________________________
basic needs approach



___________________________
comparison resistant services


___________________________ 

developed countries (DCs)


___________________________
disparity reduction rate 


___________________________
economic development 


___________________________
economic growth



___________________________
economies in transition 


___________________________
first world 




___________________________
Fisher ideal index 



___________________________
Gender-related Development Index (GDI)
___________________________ 

GDP (gross domestic product)

___________________________
GNP (or GNI)




___________________________
GNP (or GNI) per capita


___________________________
GNP (or GNI) price deflator


___________________________
high income countries



___________________________
Human Development Index (HDI) 

___________________________
indicative planning 



___________________________
International Comparison Project (ICP) 
___________________________
international economic order


___________________________
Laspeyres price index 


___________________________
least developed countries (LLDCs)

___________________________
low income economies


___________________________
middle income economies


___________________________
newly industrializing countries (NICs) 
___________________________
OPEC 





___________________________
(P) price level of GDP 


___________________________
Paasche price index 



___________________________
Physical Quality of Life Index (PQLI)
___________________________ 

Purchasing Power Parity (PPP)

___________________________
poverty weighted index 


___________________________
real economic growth 



___________________________
second world




___________________________
social democracy



___________________________
socialism 




___________________________
third world 




___________________________
UNCTAD




___________________________
World Trade Organization (WTO)

___________________________
world’s middle class



___________________________
Multiple-Choice Questions

1. Laspeyres type indexes use weights from

a. current period

b. base-period.

c. forecasting

d. future year

2.  The formula to calculate Paasche price index is (o is the base year and n is the 

given year)

a. P = ΣPnqn/Σpoqn

b. P = ΣPoqo/Σpnqn

c. P = ΣPnqo/Σpoqo

d. P = ΣPnqn/Σpoqo

3.  Tuvalu is composed of 9 coral atolls along a 360-mile chain in Polynesia. They gained independence in 1978. The former Ellice Islands are home to 9,700 people.  If GNP of Tuvalu is $300 million in 2005, GNP per capita  is

a. 9700 *(1978 / 2005)

b. 300/ 360

c. 300 000 000 / 9700

d. 32.333

4.  If GDP for Barbados is $260 million in 2005 and its population is 260, 000, GDP per capita is

a. 1000

b. 260

c. 0.001

d. 259740

5.  If GNP per capita at constant prices for Liechtenstein a microstate of 29,000 people located on the Rhine River between Switzerland and Austria is US$555 and US$560 in 2004 and 2005 respectively, the real economic growth from 2004 to 2005 is

a. 5%

b. 0.901%

c. 0.090%

d. 0.991%

6.  Economic growth from current year (c) to previous year (p) is given by

a. [(GDPc – GDPp)/ GDPp]*100

b. [(GDPc – GDPp)* GDPp]*100

c. GNPc-(GDPp*100)

d. [GDPp – GDPc]*100

7.  All of the following are high-income countries except

a. Singapore

b. U.K

c. Japan

d. South Africa

8.  Which of the following countries is not a low-income country?

a. Indonesia

b. India

c. Malaysia

d. Nigeria

9. Economic development refers to 

a. economic growth.

b. economic growth plus changes in output distribution and economic structure. 

c. improvement in the well-being of the urban population.

d. sustainable increases in Gross National Product.

10.  If GNP for Vatican City, the smallest country in the world is 200 million euros in year 2001 and its population is 890, GNP per capita is

a. 2000 - 890

b. 200/ 890

c. 200,000,000 / 890

d. 200

11.  If GDP for Palau a small country near southeast of the Philippines is $130 million in 2002 and its population is 20,000, GDP per capita is

a. 6500

b. 130

c. 0.0065

d. 650

12. If GNP per capita at constant prices for Ghana is US$360 and US$364 in 1996 and 1997 respectively, the real economic growth from 1996 to 1997 is

a. 4%

b. 1.11%

c. 0.011%

d. 11%

13. If GDP for Maldives is $435 million in 2002 and the GDP per capita is $1576.087, the population of the country must be

a. 276,000

b. 1576.086

c. 0.276

d. 3.623

14.  The formula to calculate economic growth from 2001 to 2002 is given by

a. [(GDP2002 + GDP2001)/ GDP2001]*100
b. [(GDP2002 – GDP2001)* GDP2001]*100

c. [(GDP2002 – GDP2001)/ GDP2001]*100

d. [GDP2001 – GDP2002]*100

15.  According to chapter 2 in the text, which of the following is true?

a. The boundary between rich and poor countries has become clearer in 1990s. 

b. The fastest growing countries must be the ones with the highest-per capita GNP.

c. A few poor countries like South Korea and Malaysia in the 1950s grew much 

    more rapidly than some higher-income countries like Uruguay and New Zealand

d. Today all high and upper-middle income countries are Western.

16.  Which of the following countries is not a low-income country?

a. Ethiopia

b. Rwanda

c. Somalia

d. Singapore

17.  All of the following are high-income countries except

a. the United Kingdom.

b. Singapore.

c. Japan.

d. Hungary.

18.  Which of the following country is not a high-income country

a. Canada.

b. United States.

c. Mexico.

d. Australia.

19.  All of the following are low-income countries except

a. United Arab Emirates.

b. Armenia.

c. Sudan.

d. Bangladesh.

20.  One classification of development levels used by the World Bank divides countries into three group on the basis of GNP per capita.  They are

a. NIC, OPEC and G7

b. Low-income, middle-income and high-income

c. Southeast, Northeast and Southwest

d. Asia, America and Europe

21.  The World Bank’s GNP per capita classification for low-income, middle-income and high income countries respectively is

a. less than $900,   $900-$9,000 and more than $9,000.

b. less than $5,000,  $5,000-$15,000 and more than $15,000.

c. less than $100,  $100-$1,000 and more than $1000.

d. less than $50,000,  $50,000-$150,000 and more than $150 000.

22.  OPEC is the

a. Organization of Petroleum Exporting Country.

b. Organization of Pre- European Commission.

c. Oil Producing Economies Caucus.

d. Organization of Problematic Economies Committee.

23.  The formula for the Laspeyres price index is (o is the base year and n is the given year)

a. P = ΣPoqo/Σpoqo

b. P = ΣPoqo/Σpnqn

c. P = ΣPnqo/Σpoqo

d. P = ΣPnqo/Σpoqo

24.  The Paasche index uses _______________ weights.

a. current-year 

b. base-year

c. fisher ideal index

d. Purchasing Power Parity (PPP)

25. Which of the following is not a problem in comparing developed and developing countries’ GNP? 

a. GNP is understated for developed countries, since a number of items included in   

     their national incomes are intermediate goods

b. The economic contribution of a housewife in a peasant family may not be measured in 

    GNP in poor country.

c. GNP is understated for developing countries since many of their labor-intensive good 

    have no impact on exchange rate since they are not traded.

d. GNP is overstated for countries where the price of foreign exchange is less than market 

    clearing price.

26. The University of Pennsylvania researchers Summers and Heston compute the price level of GDP as the ratio of purchasing power parity (PPP) exchange rate to the actual exchange rate where

a. both exchange rates are measured as the domestic currency price of the US-dollar.

b. both exchange rates are not converted into international dollars.

c. both exchange rates are pegged.

d. both exchange rate are converted into Big Mac PPP formula.

27. PPP is 

a. a theory that tells us that exchange rates between currencies are in equilibrium  

   when their purchasing power is the same in both countries.

b. GDP divided by exchange rate.

c. a measure of income inequality.

d. a measure of infant mortality in developing countries.

28.  The Physical Quality of Life Index (PQLI) combines three indicators.  They are

a. infant mortality, life expectancy and adult literacy rate.

b. crime rate, clean environment and quality of housing. 

c. air pollution rate, water pollution rate and sanitation.

d. health, education and environment.

29.  Infant mortality 

a. is defined as the annual number of deaths of infant under 1 year old per 1,000 live births.

b. reflects the availability of primary education, the rights of employment and social security.

c. is life expectancy up to age 3.

d. reflects the availability of hospitals and childcare facilities, and the parents’ wealth.
30.

INFANT MORTALITY

LIFE EXPECTANCY

ADULT LITERACY RATE

The three measure of welfare indicators above comprise the

a. Purchasing Power Parity.

b. Physical Quality of Life Index.

c. Human Development Index. 

d. The Laspeyres index.

31. The Human Development Index (HDI) summarizes a great deal of social performance in a single composite index, combining

a. disparity reduction rate,  human resource development rate and the composite index.

b. longevity, education and living standard.

c. minimum schooling, adult literacy and tertiary educational attainment.

d. human resource training, development and R&D.

32. Longevity is a proxy for ___________ in the Human Development Index

a. health and nutrition.

b. living standard

c. infant mortality

d. Purchasing Power Parity

33. Which of the following is not one of the Newly Industrialized Countries (NICs)?

a. Japan

b. South Korea

c. Taiwan

d. Singapore

34. According to the text, basic needs include

a. food, clothing and housing.

b. health, education and quality housing.

c. adequate nutrition, primary education, health, sanitation, water supply and housing.

d. longevity and living standards.

35.  Which of the following statement is not true about LDCs?

a. Most LDCs have less than 1/10 the per capita GNP of the U.S.

b. A greater share of GNP would have to be devoted to education to attain the same primary  

    enrollment rates as in the U.S.

c. Setting up western labor standard and minimum wages in labor-abundant LDCs  

    is sensible.

d. Most LDCs have a greater shortage of qualified teachers than the U.S. does.

36. Imitating labor standards from rich countries in LDCs may increase

a. equality.

b. poverty.

c. employment.

d. human development.

37. Which of the following did Mahatma Gandhi, non-violent politician and leader of India’s nationalist movement, not advocate?

a. village economic development. 

b. handicraft production and labor-intensive technology.

c. centralized decision making.

d. reduction of material wants.


       Economic Development in 

                                      Historical Perspective

 _______________________________________________________________________

· Capitalism rose in the West from the fifteenth to eighteenth centuries with the decline of feudalism, the breakdown of church authority, strong nation states supporting free trade, a liberal ideology tailor made for the bourgeoisie, a price revolution that speeded capital accumulation, advances in science and technology, and a spirit of rationalism.
·  In the last one to one and one-half centuries, sustained economic growth occurred primarily in the capitalist West and Japan. During this period, the economic growth rate of most of these countries was over 1.5 percent yearly. 
· Thus the gap between these countries and the developing countries of Afro Asia has increased greatly.
· During the late nineteenth century, the Japanese acquired foreign technology, established a banking system, assisted private business people, aided technical improvement in small industry, implemented universal education, and kept foreign exchange rates close to market rates. 
· However, LDCs can learn only limited lessons from Japan, because of its historically specific conditions and because some components of Japan’s model may have contributed to its recent growth collapse. 
· The South Korean and Taiwanese approaches have been similar to those of Japan. Moreover, the Korean-Taiwanese model stressed government-business cooperation alongside government creation of contested markets among businesses.
· The 1917 Communist revolution in Russia provided an alternative to capitalism as a road to economic modernization. The state took control of economic planning and capital accumulation. In only a few decades, Soviet centralized socialism transformed Russia. Yet the major sources for this rapid growth, increased capital formation and increased labor participation rates, were exhausted in the decade or two before the collapse of communism in 1991. 
· China performed better than Russia during its early industrialization, partly because of China’s institutional changes and market reforms.
· The economic growth of developing countries since World War II has been much more rapid than before the war. Yet the postwar growth of developing countries has been no faster than the growth of developed countries. 
· Whether this means convergence or divergence depends on the time, scope, and definitions.

· In the last decades of the twentieth century, eight high-performing Asian economies have experienced rapid growth, despite the Asian financial crisis of 1997-1999. Since 1990, we can add India and other LDCs to this list. 
· On the other hand, some sub-Saharan African and other LDCs have not only experienced a slowdown but a “meltdown,” resulting in declining health, nutrition, and other basic needs for most of the country’s people.  

Fill-in Questions

Asian borderless economy



___________________________

Asian tigers





___________________________

ASEAN





___________________________
Bourgeoisie





___________________________
Bretton Woods international monetary system
___________________________
Capitalism





___________________________
Cartels






___________________________
Chaebol





___________________________
club convergence




___________________________
conditional convergence



___________________________
contested markets




___________________________
convergence





___________________________

divergence





___________________________
European Regional Development Fund 

___________________________
Feld'man model




___________________________
Golden Age of Capitalist Growth


___________________________
Green Revolution




___________________________
G-7






___________________________
import substitutes




___________________________
infrastructure





___________________________
Japanese development model



___________________________
Keiretsu





___________________________
labor participation rate



___________________________
laissez-faire





___________________________
modern economic growth



___________________________
monopsony





___________________________
perestroika





___________________________
Protestant ethic




___________________________
real domestic currency appreciation


___________________________
real domestic currency depreciation


___________________________
Stalinist development model



___________________________
Surplus





___________________________
terms of trade





___________________________
total factor productivity



___________________________
unconditional convergence



___________________________
zaibatsu





___________________________
Multiple-Choice Questions

1. How has the relative gap between GNP per capita for Western Europe and GNP per capita for African less-developed countries changed from the late nineteenth century to the present? 

a. declined.

b. increased. 

c. remained the same.

d. cannot be determined.

2. Keiretsu refers to 

a. groups of affiliated companies loosely organized around a large bank.

b. horizontal manufacturing groups consisting of a core company and its partners.

c. state‑assisted entrepreneurs.

d. financial cliques.

3. Asian tigers or newly industrializing countries (NICs) of East and Southeast Asia include the following except

a. South Korea.

b. China.

c. Taiwan.

d. Singapore.

4. During the first twenty-five years after World War II, industrialization in Korea and Taiwan benefited from the following except 

a. Japanese collaboration.

b. United States aid.

c. capital inflows.

d. rapidly growing demand for manufactured goods in Asia.

5. The 1993 World Bank study entitled The East Asian Miracle (1993) identifies eight high performing Asian economies.  Which of the following is not one of them?

a. Japan.

b. Four tigers.

c. Vietnam.

d. Thailand.

6. Korea’s keiretsu-like corporate conglomerates is known as

a. zaibatsu.

b. chaebol.

c. laissez-faire.

d. bourgeoisie.

7. On what did the Russian-Soviet development model of growth not depend?

a.  diverting savings from agriculture to industry.

b.  state-assisted entrepreneurs.

c.  state-monopolized trading.

d.  markets for allocating resources.
8.  More than seventy percent of the population of fast growers lives in 

a. China.

b. United States.

c. Russia.

d. Europe.

9.  Based on the 2002 population survey, four of the five most populous countries include

a. Russia, Pakistan, Bangladesh, and Nigeria.

b. China, India, Indonesia, and Brazil.

c. Russia, China, India, and South Africa.

d. China, Russia, Mexico, and Indonesia.

10.  Why has modern economic growth mainly been in western countries?

a. a strong Catholic church intervention in the economic decisions.

b. an emphasis on trade restrictions.

c. the use of the medieval economy.

d. the rise of capitalism.

11.  Why has the growth of the German and Japanese economies after World War II not been repeated in LDCs?
a. low interest rates.

b. political instability inhibits world-wide investment.

c. human capital or technical skills were lacking.

d. real domestic currency depreciation exists.
12.  Which two countries have enjoyed a real per capita growth rate of more than 7 % yearly since the 1960s?

a. Ghana and Mexico.

b. Canada and the United States.

c. Sierra Leone and Nigeria.

d. Taiwan and South Korea.

13. Perestroika in the Soviet Union refers to

a. total market reliance for resource allocation.

b. economic restructuring by Gorbachev.

c. intensified central planning.

d. none of the above.

14. Two countries that still rely on the Soviet communist model of development are

a. Ghana and Nigeria.

b. Poland and Germany.

c. Cuba and North Korea.

d. China and Hong Kong.

15. The bourgeoisie refers to

a. the monarchy.

b. the central planners of the Soviet Union.

c. the capitalist and middle class.

d. the aristocrats of wealthy nations.

16. ASEAN refers to the

a. Association of South East Agro Nations.

b. Association of South East Asian Nations.

c. Alliance of South East Asian Neighbors. 

d. Alliance of South Eastern African Nations. 

17. Based on Mankiw, Romer, and Weil (1992), with conditional convergence, holding fertility rates, education, and government spending as a share of GDP constant 

a. income per capita is the same regardless of poor or rich countries.

b. income per capita in poor countries grows faster than in rich countries.

c. income per capita in rich countries grows faster than in poor countries.

d. income per capita in poor countries grows conditional upon foreign aid.

18. The 1993 World Bank study entitled The East Asian Miracle identifies eight high performing Asian economies. Which of the following is not one of them?

a. Japan.

b. The four tigers.

c. Vietnam.

d. Thailand. 


     Characteristics and Institutions of 

                                     Developing Countries
________________________________________________________________________

· While LDCs are diverse, they have some common characteristics that especially apply to low income countries. 
· Low income economies tend to have a high percentage of production and labor force in agriculture, low savings rates and technology, relatively rapid population growth, relatively low literacy and skills, and poorly developed institutions. 
· While a disproportional proportion is not democratic, their political systems vary. 
· Some lose substantial savings and income from widespread rent seeking, acquiring private benefits from public resources. 
· A few, especially in sub-Saharan Africa, are failed states, providing virtually no public goods or services to their people. 

· Despite this bleak portrait, LDCs generally have raised real incomes, reduced poverty, increased life expectancy, lowered infant mortality, improved literacy and educational access, narrowed gender disparities, and decelerated population growth, especially in the last half century. 
Fill-in Questions

capital stock




_____________________________
clientalism




_____________________________
democratization



_____________________________
dual economy




_____________________________
European Union accession countries

_____________________________
export commodity concentration ratio
_____________________________
extended family



_____________________________
failed states




_____________________________
household responsibility system  

_____________________________
informal sector



_____________________________
institutions




_____________________________
inverted U‑shaped curve


_____________________________
nongovernmental organizations (NGOs)
_____________________________
peasants




_____________________________
political elite




_____________________________
prebendalism




_____________________________
predatory (neopatrimonial) rulers

_____________________________
primary products



_____________________________
property rights




_____________________________
rent seeking




_____________________________
social capital 




_____________________________
sustained development


_____________________________
transparency




_____________________________
value-added taxes (VAT)


_____________________________
World Trade Organization (WTO)

_____________________________
Multiple-Choice Questions

1.  As economic development proceeds, income inequality tends to follow a(n) __________ curve

a. convex.

b. inverted U-shaped.

c. L-shaped.

d. S-Shaped.

2.  Two or more nuclear families of parent(s) and children is known as

a. dual family.

b. institutional family.

c. extended family.

d. two-tier family tree.

3.  Peasants are

a. rural politicians.

b. rural cultivators.

c. rural industrialist.

d. rural religious group.

4.  Which of the following statement is true about low-income countries? 

a. less than 10% of the labor force is in agriculture.

b. the average agriculture family produces surplus large enough only to supply a small  non-agriculture population.

c. one-third of the labor force produce food.

d. share of labor force is about 30%.

5.  A country’s capital stock is the

a. approximated investment minus actual investment.
b. inflow of investment from abroad.

c. sum of previous gross investment minus depreciation.

d. difference between GDP and capital consumption.

6.  According to Lewis’s model, the dual economy grows only when

a. the modern sector increases its output share relative to the traditional sector.

b. agricultural sector uses modern equipment.

c. agricultural sector hires labor economically.

d. modern manufacturing sector is labor-intensive.

7.  Export primary commodity concentration ratios are

a. commodity exports as a percentage of GDP per capita of exporting country divided by  

    importing country.

b. export earnings as a ratio of population.

c. total merchandise export divided by Gross National Income.

d. food, raw materials, minerals, and organic oils and fat as a percentage of total  

    merchandise exports.

8.  The following statements are true about informal sector except

a. Uses no mechanical power.

b. May be enterprises with less than 10 workers.

c. Production is capital-intensive.

d. Uses family workers.

9. Economic rent 

a. is productive activity to obtain private benefit from public action and resources.

b. is the payment above the minimum essential to attract the resource to the market.

c. is the wage used to pay unskilled workers.

d. does not include monopoly profits.
10. The informal sector includes

I    artisans, cottage industrialists, petty traders, tea shop proprietors.

II   garbage pickers, jitneys, unauthorized taxis, repair persons.

III  the self-employed.

IV  activities with little capital, skill, and entry barriers.

a. I and II only

b. III and IV only

c. IV only

d. I, II, III and IV

11. Clientelism 

I    is also known as patrimonialism.

II   is the dominant pattern in many LDCs.

III  is a personalized relationship between patrons and clients.

IV  commands equal wealth, status, or influence, based on unconditional loyalties and 

      involving mutual benefits.

a. I and II only

b. II and III only
c. I, II and III only
d. IV only
12.  Which of the following is not a requirement for economic development?

a. a temperate climate.

b. natural resources.

c. an adequate capital base.

d. technological advance.

13.  Which one of the following countries is not a high-income country?

a. Germany.

b. The United Kingdom.

c. Canada.

d. Mexico.

14.  A country's export commodity concentration ratio is the

a. average annual investment made in production of exported commodities.

b. proportion of the primary export commodity in total exports.

c. ratio of four leading commodities to total merchandise exports.

d. total annual investment made in production of exported commodities.

15.  Assume that the real income of a developing Island increases from $120,000 to $160,000 from 2005 to 2006, while its population expands from 1000 to 1100 during the same period.  Real income per capita has increased by about

a. $145.

b. $40,000.

c. $25.

d. $100.

16. Increases in real GNP per capita occur when

a. government programs direct resources away from investment goods to consumer goods.

b. tariffs and quotas prevent countries from trading and thus prevent dollars from leaving each country.

c. the rate of growth in real GNP is greater than the rate of growth in the population.

d. the level of consumption expenditures rises relative to the level of saving.

17.  In low-income countries, the average agricultural family produces a surplus

a. enough to supply only a small non-agricultural population.

b. of zero.


c. large enough to feed five other families.

d. large enough to feed 25 other families.

18.  What is gross domestic product (GDP)?

a.  income earned through foreign exchange.

b.  the number of dollars earned in industry.

c. income earned within a country’s boundaries.

d. goods received from the nation’s local residents.

19.  What is the ratio of population density of developing countries to the population of developed countries?

a. 10.

b. 2.

c. no more than 1.

d. 20.

20. Industrialization

a. causes development.

b. is positively related to development.

c. is inversely related to development.

d. inhibits development.

21. Dual economies are countries

a. with double capital and labor/

b. with a modern manufacturing sector as well as traditional agriculture sector.

c. that specialize in labor-intensive products more than capital-intensive products. 

d. with foreign-owned and domestically-owned capital.

22. The low-income economies generally have the following except

a. deficient infrastructures.

b. low life expectancies.

c. low savings.

d. a per capita GNP of more than $900.

23. A dual economy is distinguished from other economies by having

a. an industrial sector and a manufacturing sector.

b. a traditional agricultural sector and a modern industrial sector.

c. state ownership of the means of production.

d. an industrial sector that concentrates on manufacturing and construction.

24.Increases in real GNP per capita occur when

a. government programs direct resources away from investment goods to consumer 

    goods.

b. tariffs and quotas prevent countries from trading and thus prevent dollars from leaving 

    the country.

c. the rate of growth of real GNP is greater than the rate of growth of population.

d. the level of consumption expenditures rises relative to the level of saving.



Theories of Economic Development 

________________________________________________________________________

· David Ricardo feared eventual stagnation from slow capital accumulation, and diminishing returns from population growth on fixed natural resources. 
· However, he failed to see the possibility of sustained, rapid, economic growth because his theory understated scientific discoveries and technological progress.

· Marx saw history dialectically as progressing from feudalism to capitalism to socialism on the basis of class conflict. The oppressed classes overthrow the classes controlling the prevailing means of production. 
· Rostow's economic model has five stages; its central historical stage is the takeoff, a decisive period of increased investment, rapid growth in leading sectors, and institutional change during which the major blocks to steady growth are finally overcome
· The vicious circle theory contends that a country is poor because its income is too low to encourage potential investors and generate adequate saving. 
· Balanced growth advocates argue that a big push is needed to begin economic development because of indivisibilities in demand and infrastructure. 
· Critics indicate that most LDCs do not have the resources essential for launching such a big push.

· Hirschman supports a deliberate unbalancing of the economy to facilitate economic decision making and investment. However he fails to stress the importance of agricultural investment.

· Kremer’s O-ring theory of development emphasizes that production consists of many tasks, all of which must be successfully completed for the product to have full value and to prevent coordination failure.  

· In the Lewis model, an unlimited supply of surplus farm labor migrates to urban areas for wages in excess of rural, subsistence wages. This supply of cheap labor to the industrial sector is the basis for profits, and capital accumulation. 
· Fei and Ranis, too, believe that the capitalist wage will increase before surplus labor is absorbed, unless agriculture and industry can achieve balanced growth. 
· For Baran, the coalition of the bourgeoisie and landed classes, helped by foreign capitalist governments, is incapable of undertaking the capital formation and political reform required for rapid economic growth and alleviation of mass poverty.

· Furtado's dependency theory contends that increased productivity and new consumption patterns resulting from capitalism in the peripheral countries of Asia, Africa, and Latin America benefit a small ruling class and its allies.

· Frank's dependency approach maintains that countries become underdeveloped through integration into, not isolation from, the international capitalist system. 

· The neoclassical counterrevolution to Marxian and dependency theory emphasized reliance on the market, private initiative, and deregulation in LDCs. Neoclassical growth theory emphasizes the importance of increased saving for economic growth. 
· The new endogenous growth theory arose from concerns that neoclassical economics neglected the explanations of technological change. 

Fill-in Questions

Accelerator





____________________________
backward linkages




____________________________
balanced growth




____________________________
big push thesis





____________________________
classical theory




____________________________
closed economy




____________________________
commercialization (turning) point


____________________________
demonstration effect




____________________________
dependency theory




____________________________
economic liberalism




____________________________
endogenous





____________________________
external economies




____________________________
forward linkages




____________________________
historical materialism




____________________________
human capital





____________________________
ICOR (incremental capital output ratio)

____________________________
Indivisibilities





____________________________
Infrastructure





____________________________
Innovation





____________________________
institutional wage




____________________________
International Monetary Fund (IMF)


____________________________
invisible hand





____________________________
iron law of wages




____________________________
labor supply elasticities



____________________________
laissez faire





____________________________
law of diminishing returns



____________________________
Lewis-Fei-Ranis model



____________________________
neoclassical counterrevolution


____________________________
neoclassical theory of growth



____________________________
neoclassicism





____________________________
endogenous growth theory



____________________________
OECD






____________________________
O-ring theory of economic development

____________________________
preconditions stage




____________________________
price elasticity of demand



____________________________
production function




____________________________
reserve army of the unemployed


____________________________
surplus






____________________________
unbalanced growth




____________________________
vicious circle





____________________________
virtuous circle





____________________________
Washington consensus



____________________________
World Bank





____________________________
Multiple-Choice Questions

1.  One criticism of Rostow's theory of economic growth is that

a. much available data contradicts his thesis about the takeoff stage.

b. there is no explanation of why growth occurs after takeoff.

c. his hypothesis of the stages of growth is difficult to test empirically.

d. all of the above are correct.

2. Criticisms of Rostow's stages of development include

a. the difficulty of testing the stages scientifically.

b. conditions for takeoff are contradicted by historical evidence.

c. characteristics of one stage are not unique to that stage.

d. all of the above are correct.

3.  According to the supply side of the vicious circle theory of development, a country is poor because

a. technology levels do not allow for self-sufficiency.

b. it was previously too poor to save and invest.

c. underemployment is too widespread.

d. resource allocation is poor.

4.  Baran's Neo-Marxist thesis has been criticized for ignoring the probability that power is frequently

a. based on an alliance between landowners and peasants. 

b. based on an alliance between peasants and the foreign bourgeoisie. 

c. transferred from one elite to another when revolution occurs.

d. derived from domestic opponents of nationalism. 

5.  The vicious circle theory states that

a. growing government assistance create addiction to welfare programs.

b. low income levels create pressure for money creation.

c. low income levels create pressure for cheap imports.

d. low per capita income creates low savings that keep incomes low.

6.  The Harrod-Domar growth model suggests that growth is

a. directly related to savings and inversely related to the capital/output ratio.

b. directly related to the capital/output ratio and inversely related to savings.

c. indirectly related to savings and the capital/output ratio.

d. directly related to savings and the capital/output ratio.

7.  Surplus labor theories assume that

a. LDCs are overpopulated.

b. labor contributes nothing to output in LDCs.

c. the marginal product of labor is close to zero in LDCs.

d. urban unemployment is high in LDCs.

8.  A theory  

I    is a systematic explanation of relationships between economic variables.

II   explains causal relationships among variables.

III  provides a basis for policy.

IV  provides an explanation of all factors influencing economic growth.

a. I only.

b. I and II only.

c. I, II and III only.

d. IV only.

9. During the 1980s and 1990s, a period of economic conservative governments in much of the West and Japan, a leading approach among development economists was 

a. neoclassicism.

b. Marxism.

c. Rostow’s model.

d. the classical approach.

10. Which of the following was not a classical economist?

a. Adam Smith.

b. Thomas R. Malthus.

c. John Stuart Mill.

d. John Maynard Keynes.

11. Adam Smith advocated

I    laissez‑faire. 

II   the invisible hand. 


III  free-trade policy. 

IV  competitive markets.

a. I and II only
b. II and III only

c. I, II and III only

d. I, II, III and IV

12. Karl Marx's historical materialism views were shaped by all of the following EXCEPT 

a. the French Revolution.

b. the rise of industrial and capitalist production.

c. political and labor revolts.

d. a growing spiritual rationalism.

13. Feudalism was undercut by

I    the migration of serfs to the town.

II   factory competition with handicraft and manorial production.

III  expanded transport, trade, discovery, and new international markets.

IV  the rise of the business corporation.

a. I and II only

b. II and III only

c. I, II and III only

d. IV only

14. Rostow's economic stages are 

a. the preconditions for takeoff, the takeoff, the drive to maturity, and the age of creative  

   destruction.

b. the traditional society, the preconditions for takeoff, the takeoff, the drive to maturity, 

    and the age of high mass consumption.

c. the preconditions for consumption, the replication, the drive to maturity, and the age of 

    high mass consumption.

d. the learning curve, the age of high mass consumption, post-takeoff, and the drive to 

    maturity.

15. The vicious circle theory indicates that

a. a country is poor because it has lower productivity but high savings.

b. as countries grow richer, they save less.

c. poverty perpetuates itself in mutually reinforcing circles on supply and demand sides.

d. market size is large in LDCs.

16. The synchronized application of capital to a wide range of different industries is called _______________ by its advocates.

a. balanced growth.

b. capitalization.

c. elasticity of capital.

d. indivisibilities.

17. For Rosenstein-Rodan a major indivisibility is in 

a. supply.

b. infrastructure.

c. agriculture.

d. services.

18. A major dependency theorist, Andre Gunder Frank suggests that the following economic activities have contributed to underdevelopment:

I    Workers migrating from villages to foreign‑dominated urban complexes.

II   Forming an unskilled labor force to work in factories and mines and on plantations. 

III  Replacing indigenous enterprises with technologically more advanced, global, subsidiary companies.

IV  Closing the economy to trade with, and investment from, developed countries.

a. I and II only.

b. II and III only.

c. I, II and III only.

d. I, II, III and IV.

19. OECD stands for

a. Organization for Economic Cooperation and Development.

b. Oil Exporting Countries’ Development.

c. Organization for Environmental Cooperative Department.  

d. Open Economies’ Caucus on Development.

20.  What is Baran’s explanation for underdevelopment in Asia, Africa, and Latin 

      America?

a. monopolistic business from abroad.

b. reactionary ruling coalitions.

c. weak domestic middle class.

d. all of the above. 

21.  The Lewis model explains how growth gets started in a less developed economy

a. with an average product of labor in agriculture that is negative. 

b. with a downward-sloping supply curve of labor.

c. with a marginal productivity of labor zero or negligible in industry. 

d. with a traditional agricultural sector and an industrial capitalist sector.

22.  The essential difference between capitalism and socialism is that

a. capitalism exploits the worker and socialism exploits the property owner.

b. capitalism relies on the market to make economic decisions and socialism    

    uses central planning.

c. capitalism grows through rent seeking and socialism grows through government 

    direction.

d. capitalism relies on consumer satisfaction to dictate choices and socialism relies on 

    producer satisfaction.

23.  The ultimate effect of the "invisible hand" of Adam Smith is that, in a competitive  

       economy, everyone

a. benefits if each acts in his/her own interest.

b. will increase their profits in a free market.

c. should act to maximize economic growth.

d. should act to promote the public interest.



Poverty, Malnutrition, and 

                                         Income Inequality
________________________________________________________________________

· Poverty is multidimensional, referring not only to low income but also to hunger, illiteracy, poor health, inadequate infrastructure, and lack of power and voice 

· Absolute poverty is below the income that secures the bare essentials of food, clothing, and shelter. 
· The World Bank and other international agencies have drawn $1/day and $2/day poverty lines, based on 1985 purchasing power parity (PPP). 
· Sala-i-Martin, who interpolates income distribution by percentiles rather than by the World Bank’s quintiles, estimates that 6.7 percent of the world was suffering $1/day poverty and 18.6 percent $2/day poverty in 1998. 
· The overwhelming majority of the world’s poor live in sub-Saharan Africa, South Asia, and East Asia.

· Sala-i-Martin and Bhalla show that the world’s individual income inequality fell from 1980 to 2000, a result of a shift of large numbers in high-populated Asia, especially in China and India, from the world’s lower to middle class. 
· Sen's concept of poverty focuses on capabilities rather than attainments.

·  Sen argues that policy makers need the following measures of poverty: headcount or poverty percentage, income-gap or the additional income needed to bring the poor up to the level of the poverty line, and Gini coefficient or concentration of income among the poor.

· Inequality tends to follow an inverted U shaped pattern, first increasing and then decreasing with growth in per capita income.

· People in absolute poverty are undernourished and have low resistance to disease. A high infant mortality rate, a life expectancy of about 45 years, and illiteracy characterize this group. 

· Growth rates of national income are closely correlated with the income growth of the poorest 20 percent. 
· Taiwan's and South Korea's stress on land reform, education, and labor intensive manufacturing, and Indonesia's emphasis on rural development have succeeded in increasing the income shares of the poorest segments of their populations. India’s poverty rates fell rapidly from the mid-1980s through the 1990s, when liberalization reforms spurred growth.

· Policies used to reduce poverty and income inequality include credit for the poor, universal primary education, employment programs, rural development schemes, progressive income taxes, food subsidies, health programs, family planning, food research, inducements to migration, income transfers, affirmative action programs, targeting programs for the poorest groups, and workfare schemes for which only the poor will qualify. 
· Economists disagree on whether there is a tradeoff or interlink between equality and growth. 

· Poverty and inequality increase the risk of war, state violence, and rebel resistance in LDCs. 

Fill-in Questions

absolute poverty




___________________________
Adelman-Morris theory of growth and inequality
___________________________
adjustment 





___________________________
capability





___________________________
concessional lending




___________________________
crowding





___________________________
cumulative distribution function


___________________________
elasticity of propoor growth



___________________________
elasticity of the poverty gap



___________________________ 
Gini coefficient




___________________________
Grameen Bank




___________________________
Green Revolution




___________________________
group lending





___________________________
headcount approach to poverty 


___________________________
income-gap approach to poverty 


___________________________
international balance on goods and services

___________________________
International Development Association 

___________________________
International Monetary Fund



___________________________
inverted U shaped curve



___________________________
Kuznets curve





___________________________
Lorenz curve





___________________________
Microenterprises




___________________________
“missing” women




___________________________
$1 per day poverty




___________________________
patron-client systems




___________________________
poverty line





___________________________
relative deprivation




___________________________
standard deviation




___________________________
terms of trade





___________________________
$2 per day poverty 




___________________________
Variance





___________________________
Workfare





___________________________
World Bank





___________________________
Multiple-Choice Questions

1.  The Human Development Report 2003, which assumes that poverty is multidimensional, calculates a human poverty index based on which of the following measures of deprivation: 

I    probability at birth of not surviving to age 40.

II   adult illiteracy rate.

III  negative economic growth.

IV  lack of a decent standard of living.

a. I and II only

b. III and IV only

c. I, II and III only

d. I, II and IV.

2.  According to Human Development Report 2003, about_______ countries were poorer in 2003 than in 1990.

a. 50.

b. 100.

c. 1000.

d. 5.

3.  _____________is below the income that secures the bare essentials of food, clothing, and shelter.

a. Income inequality.

b. Absolute poverty.

c. Sen’s poverty index.

d. Purchasing-power poverty.

4.  Sen's welfare theory relies on

a. individuals' accomplishments.

b. individuals' capabilities.

c. individuals' wealth.

d. individuals' education.

5. Indices of income distribution measure

a. absolute poverty.

b. economic growth.

c. relative poverty.

d. standard of living.

6.  Income inequalities are often shown on a 

a. production possibility curve.

b. marginal inequality curve.

c. Sen curve.

d. Lorenz curve.

7. A value of 1 in Gini index represents

a. low inequality.

b. maximum inequality.

c. 10/10, 000% inequality.

d. 1% inequality.

8.  The elasticity of propoor growth is

a. the percentage increase in the consumption growth of the poor divided by   

    percentage increase in the consumption growth of the nonpoor.

b. the percentage increase in the poor times percentage increase in the nonpoor.

c. the percentage increase in the poverty of the poor divided by percentage increase in   

    the poverty of the nonpoor.

d. the percentage increase in the poor people in the urban divided by percentage increase 

    in the nonpoor in the urban.

9. In 2003, the UN Development Program estimated that a 1-percent LDC per capita consumption growth, with income inequality unchanging, would reduce the poverty percentage by _________ percent yearly.

a. 0.

b. 2.

c. 6.

d. 0.5.

10. The elasticity of the poverty gap with regard to the Gini index is (where H is the poverty percentage and G is the growth) 

 a. 
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d. 
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11.  Which of the following statements are true about income inequality in developed and     

        developing countries.

I      27 percent of the developing countries have low inequality.

II     The majority of developed (high-income) countries have high income inequality.

III    The income shares of the poor are lower and their variance higher in DCs than in   

        LDCs.

a. I only

b. II only

c. I and II only

d. I, II and III

12. The Lorenz curve shows 

a. patterns of poverty between developed and developing countries.

b. the change in GDP per capita over time. 

c. the poorest’s income shares fall in the early stages of growth.

d. income concentration relative to a 45-degree line. 

13.  “Peer borrowing groups of five or so people with joint liability approve loans to other members as a substitute for the bank's screening process”.

The above statement applies to

a. Indonesia's Badan Kredit Kecamatan (BKK).

b. the Association for Development of Microenterprise.

c. Bangladesh’s Grameen Bank.

d. the Enterprise Credit Program in Kolkata.

14. Sala-i-Martin interpolates income distribution by

a. quintiles.

b. percentiles.

c. simulation.

d. relative ratio measures.



Rural Poverty and 

                                         Agricultural Transformation  

________________________________________________________________________

· Rural inequality is probably less than urban inequality in LDCs as a whole, especially in Afro-Asia. Nevertheless rural populations have a higher percentage in poverty than urban populations, because of much lower average incomes in rural areas. 
· Households headed by women form a disproportionate share of the rural poor. 
· Two-thirds of Sub-Saharan Africa's rural population (with the highest poverty rate) and more than one-half of Latin America's rural population live in poverty. 
· Asia has the largest absolute number of rural poor but the lowest rural poverty rate among LDC regions.

· Because of high levels of capital accumulation, technical knowledge, and worker productivity, agricultural output per worker in developed countries is about 25 times as high as in developing countries.

· Subsistence farming dominated LDC agriculture in the past. 

· With globalization, a larger proportion of LDC farm ouput is contracted with multinational corporations.

· Agricultural economists noticed a fall in global average foodgrain production during the late 1980s and early 1990s. 

· Entitlement refers to the set of alternative commodities that a person can command in a society using the totality of rights that he or she possesses.

· Colonial and postcolonial policies biased against agriculture helped contribute to sub Saharan Africa's decline in food output per capita from the early 1950s to the early 1990s. 
· Africa's food security is low because of substantial fluctuations in domestic production and foreign-exchange reserves, reductions in food aid, and lack of a Green Revolution in most of the continent. 

· Inadequate capital , lack of technology, low educational and skill levels, the brain drain to urban areas, food price policies, below market foreign exchange rates, and governmental urban bias contribute to low incomes in rural areas. 
· In LDCs, the small family farm is best positioned to have high productivity per hectare, at least if credit, extension, and inputs are readily accessible. 
· Collective farming has not generally increased productivity because of disincentives for work, innovation, and savings.

· Production oriented rural development projects such as small farmer credit, agricultural innovations and new technology, and improved extension services are likely to reduce agricultural terms of trade and thus reduce rural incomes in the short run. 

· Agriculture biotechnology has substantial potential to increase yields per hectare and per person in developing countries.

Fill-in Questions

Cooperative




___________________________________
elasticity of supply



___________________________________
entitlement




___________________________________
foodgrain (cereals) deficit


___________________________________
food security index (FSI)


___________________________________
household responsibility system 

___________________________________
import substitutes



___________________________________
kulak





___________________________________

latifundios




___________________________________

minifundios




___________________________________

peasant farming



___________________________________

property rights




___________________________________
real exchange rate



___________________________________
sharecropping




___________________________________
ujamaa





___________________________________
urban bias




___________________________________
Multiple-Choice Questions

1.  Which of the following is not true about most farmers in LDCs?

a. The staple crop is the chief source of food.

b. Labor is underutilized except for planting and harvesting seasons.

c. On the traditional farm, output is always greater than consumption.

d. Cultivators farm only as much land as their families can work without hired labor.

2.  Which of the following is not true about the specialized farm?

a. Such a farm is the most advanced agricultural phase in a market economy.

b. Such a farm usually emphasizes cultivating one crop.

c. Such a farm is labor intensive.

d. Such a farm uses advanced technology, and takes advantage of economies of scale.

3.  Which of the following is not a consequence of growing agricultural commercialization?

a. An increase in the number of landless laborers.

b. An increase in rural poverty.

c. Women gain in decision making power.

d. Workers’ nutrition is reduced.

4.  Which scholar argues the following: “Plantations have no significant advantage over peasants [for] crops for which centralized processing and marketing are not necessary. Cocoa and coconuts are typical examples of a lack of large-scale economies. Peasants can grow and process these crops in small lots with no large capital requirement beyond small indigenous tools and facilities.”

a. Yujiro Hayami.

b. Raanan Weitz.

c. Hans Singer.  

d. Tim Dyson. 

5.  Which of the following statement about rural and agricultural development is true?

a. Rural development is the same as agricultural development.

b. The agrarian community requires a full range of services such as schools, merchants, 

    banks, and so on.

c. Household nonfarm income is uncorrelated to farm productivity and household 

    incomes in Kenya.

d. China's rural population receives little income from nonfarm income.

6.  Which of the following is not a major factor raising LDC agricultural labor productivity?

a. new biological-chemical-mechanical inputs in production.

b. new technical and organizational knowledge from greater specialization.

c. expanded markets for agricultural output.

d. massive government intervention.

7.  Which of the following is not among the most advanced global food chain cluster with headquarters in the US.

a. Cargill/Monsanto.

b. ConAgra.

c. Novartis/ADM.

d. Procter & Gamble.

8. Which index "combines measures of calorie availability (in relation to requirement), the growth of per capita daily energy supply, food production, food staples self-sufficiency, and variability of food production and consumption"?

a. food sufficiency index. 

b. food security index. 

c. food self-intake index.

d. food growth index.

9. Which of the following is NOT a cause of food insecurity, according to Nic Maunder, a specialist on Ethiopia?

a. War and bad governance. 

b. Corruption and mismanagement.

c. Poor roads. 

d. Aid from developed nations.

10. Which of the following colonial policy contribute further to today's agricultural underdevelopment in Africa?

I    Colonial governments compelled farmers to grow selected crops.

II   Colonialism often changed traditional land tenure systems from 

      individual control to communal. 

III  Colonialists failed to train African agricultural scientists and 

      managers.

IV  Research and development concentrated on food production and small 

      farmers and herders.

a. I and II only.

b. I and III only.

c. III and IV only.

d. II and III only.

11.  A set of alternative commodity bundles that a person can command in a society using the totality of rights and opportunities that he possesses is known as

a. production possibilities. 

b. entitlement.

c. income distribution.

d. egalitarianism.

12.  Amartya K. Sen emphasizes that having enough to eat depends on 

a. society's system of entitlement.

b. an egalitarian income distribution.

c. low poverty rates.

d. society's high Gini concentration.

13.  In a food demand growth equation, D = Φ + SYMBOL 97  \f "Symbol"E, SYMBOL 97  \f "Symbol" is the income elasticity of demand for food, E is the per capita income growth, and Φ is

a. poverty rates.

b. food security index.

c. change in the quantity of food demanded per capita.

d. population growth.

14.  Which of the following is a form of urban bias?

I    Government may set price floors on food and price ceilings for industrial goods.

II   Tax incentives and subsidies to infant-industry.

III  Tariff and quota protection for industry.

IV  Spending more for education, training, housing, health   

      and transport in urban areas than in rural areas.

a. I,II, III only.

b. I, II and IV only.

c. II, III and IV only.

d. I, II, III and IV.

15. Most of Latin America has been characterized by________,  large land‑grant estates owned by the few, and _________, small poor holdings that rarely provide adequate employment for a family.

a. minitudinous, latitudinous.

b. latifundios, minifundios.

c. feudum, nocere.

d. grameen, repetto.

16. According to Binswanger, Deininger, and Feder, land concentration contributes to ________ income and _______ inequality which are major sources of LDC rural conflict.

a. low, high.

b. constant, high.

c. progressive, regressive.

d. high, low.



Population and Development  

________________________________________________________________________

· <;lnf>Population growth in the second half of the twentieth century, especially among LDCs, is unprecedented in human experience.  
· The developing world has a current population growth rate of 1.6 percent yearly. More than one‑half of the world's population lives in Asia.
· <The demographic transition is a period of rapid population growth occurring between a preindustrial, stable population characterized by high fertility and mortality rates and nearly equal birth and death rates in a late modern period. <;ln>
· Contemporary LDC population growth has been faster than that of the DCs during their early transitional period because of a sharper drop in mortality rates in LDCs.

· Today's developing countries were able to take advantage of advances in food production, new pesticides, improvements in transport and communication, improved nutrition, better personal hygiene, medical innovations, and immunization in a short time<;b1>‑‑many of which were not available to DCs during their early demographic transition.<;ln>
· Fertility decreases with economic development, urbanization, industrialization, mobility, literacy, female labor force participation, reduced income inequality, and greater family‑planning efforts. 
·  Development and family‑planning programs have both contributed to the decrease in LDC fertility rates since the 1960s.<;ln>
· The young age structure in LDCs means that their populations will continue to grow even after the average woman of childbearing age bears only enough daughters to replace herself.<;ln>
· Malthus's predictions that population would outgrow food supply were wrong in the past because he did not foresee that technological change, capital accumulation, and voluntary birth control would maintain a safe food and population balance. 
· Present agricultural production is sufficient to feed everyone on earth adequately. However, deficiencies in food distribution between and within nations, inadequate agricultural research, and limited energy make future food availability in LDCs rather uncertain, especially in sub‑Saharan Africa.<;ln>
· Simon, who contends that population growth stimulates technology, division of labor, and economic growth, argues against a LDC government population policy. <;ln>
· Increased urbanization and congestion, rapid labor force growth, growing unemployment, and high dependency burdens are some major costs of high fertility rates and rapid population growth.
· That 30<;b2>‑35 percent of LDC population is 0<;b2>‑14 years old compared to only 15<;b2>‑20 percent in the DCs means that resources have to be diverted from capital formation to take care of the young in the LDCs.

Fill-in Questions

CGIAR





______________________________
crude birth rate




______________________________
crude death rate




______________________________
demographic transition



______________________________
dependency ratio




______________________________
family‑planning programs



______________________________
global public goods




______________________________
Green Revolution




______________________________
international network of agricultural research centers _____________________________
laissez‑faire





______________________________
Malthusian view




______________________________
negative externalities




______________________________
population age pyramid



______________________________
population momentum



______________________________
replacement‑level fertility



______________________________
stationary population




______________________________
total fertility rate (TFR)



______________________________
Multiple-Choice Questions

1.  A period of rapid population growth between a preindustrial, stable population characterized by high birth and death rates and a later, modern, stable population marked by low fertility and mortality is known as

a. demographic transition.

b. population maturity.

c. demobilizing population.

d. birth-death transformation.

2.  The _______________ is the ratio of the non-working population (under 15 years old and over 64 years old) to the working-age population.

a. labor force participation rate.

b. per capita population ratio.

c. population transition.

d. dependency ratio.

3.  Throughout most of humankind’s existence, population grew at a rate of _________ per year.

a. 10%.

b. 0.002%.

c. 2%.

d. 0.5%.

4.  A stationary population is when population growth is

a. increasing at an increasing rate.

b. decreasing.

c. zero.

d. 100%.

5.  Which of the following is not a possible cost of high fertility rates and rapid population growth?

a. increasing returns to natural resources, with a direct impact on average food 

    consumption.

b. increased urbanization and congestion.

c. a higher labor force growth rate and higher unemployment.

d. a working population that must support a larger number of dependents.

6. The Essay on the Principle of Population was written by

a. The World Bank.

b. Thomas Robert Malthus.

c. Julian Simon.

d. Abraham Lincoln.

7.  About __________of the world's population lives in LDCs.

a. 80%.

b. 50%.

c. 25%.

d. 35%.

8. Simon's model is consistent with

a. population self‑sufficiency and constant economic growth.

b. low fertility and mortality.

c. a laissez‑faire population policy.

d. a constant returns to scale production function. 

9.  Malthus's theory was that population

a. increased proportionally to economic growth.

b. increased geometrically, outstripping food supply, which grew arithmetically

c. increased stagnantly with food supply and economic development.

d. increased disproportionately, surpassing agricultural production.

10.  The development of high‑yielding varieties (HYVs) of wheat and rice is known as

a. the agribusiness revolution.

b. farming system theory.

c. the Green Revolution.

d. agri-R&D.

11.  In 2000, China and India constituted about__________ of the world's population.

a. 40%.

b. 10%.

c. 80%.

d. 0.10%.

12. The total fertility rate (TFR) is

a. the total number of children born in a country in a given year divided by labor force.

b. the number of children born to the average woman during her reproductive years.

c. the number of births in a country divided by total population in a given year. 

d. the number of women age 15-45 in a country divided by total population.

13. Organized family‑planning programs and the demand for birth control resulting from urbanization, modernization, economic development, and increased education have contributed to 

a. a decline in fertility.

b. the demographic transition from stage 3 to stage 2.

c. increases in the ratio of labor to capital.

d. an increase in the dependency ratio.

14.  Which of the following is NOT true about children in a peasant society?

a. Boys as young as 8 years old tend or herd animals, weed, pick, and sell produce.

b. Children place more economic demands on a peasant family than an urban family.

c. Major financial security is usually provided by sons.

d. The cost of education, entertainment, and travel is low.

15.  Julian Simon 

a. supported the Club of Rome's Limits to Growth for estimating technical change.

b. assumed that population growth causes technological progress. 

c. used the second law of thermodynamics to assume that technological progress is 

    costless.

d. assumed the classical view of technological change.

16.  Which of the following is not an example of a global public good?

a. high‑yielding varieties (HYVs) of grains.

b. polio and small-pox vaccinations.

c. the campaign against river blindness.

d. the drilling of oil in the Arctic. 

17. Prototypes of international agricultural research centers are the 

I    International Center for the Improvement of Maize and Wheat (CIMMYT).

II   International Rice Research Institute (IRRI). 

III  Synthetic Rubber Research Institute (SRRI).

IV  Center for International Agricultural Production Control (CIAPC).

a.  I only.

b.  I and II only.

c.  III and IV only.

d.  IV only.

18.  Economists in India, Pakistan, the Philippines, and Mexico argue that foodgrain growth would not have kept up with population growth in the last four decades without 

I    the improved packages of high-yielding seed varieties.

II   fertilizers, pesticides and irrigation.

III  improved transportation.

IV  better extension service.

a. I and II only.

b. II and III only.

c. I, II and III only.

d. I, II, III and IV.

19.  The goal of integrated pest management (IPT) is to 

a. reduce yield losses by pests while minimizing the negative effects of pest control.

b. have year-round plantings of a single crop.

c. undertake monoculture pest planning.

d. encompass biological control through fertilizers. 



Employment, Migration, and Urbanization
________________________________________________________________________

· Production depends on the flow of natural resources, capital, labor, entrepreneurship, and technology per unit of time.
· The openly unemployed, those without a job who are actively looking for one, are usually urban, 15 24 years old, and among the well educated.
· The underemployed, the visibly active but underutilized, the impaired, and the unproductive are all underutilized in LDC labor forces.
· About one-third of the labor force in least developed Africa is employed outside agriculture. The labor force in these countries is growing at about 2.7 percent per year. 
· Although many economists believe that there is widespread disguised unemployment, or zero marginal productivity, in LDC agriculture, the available evidence does not support the contention.
· Rural urban migration contributes almost as much to the rapid growth of the urban labor force in LDCs as population growth. 
· Lewis argues that an unlimited supply of underutilized farm labor migrates to urban areas for wages only slightly in excess of rural wages. 
· Harris and Todaro indicate, however, that farm workers considering a move to an urban area consider urban rural differences in unemployment as well as wages.
· Keynesian unemployment from deficient aggregate demand is not important in LDCs because of the slow response in output to demand increases, ineffective fiscal policy, rural urban migrants in the labor market, and possible tradeoffs between employment and output from inappropriate technology.
· Technology designed for the industrialized countries, which have a relative abundance of capital and scarcity of labor, is often not suitable for LDCs, with their abundant labor and scarce capital. This inappropriate technology increases unemployment. 
· Capital may be priced higher and labor priced lower than equilibrium prices in LDCs because of government wage and social legislation, trade union pressures, and a low price for foreign exchange.
· The LDC unemployment is higher among the educated than the uneducated because the educated may have unrealistic earnings expectations or job preferences and because wages paid to educated workers are often inflexible.
· Policies to reduce unemployment include programs to reduce fertility; encourage rural development and amenities; substitute labor intensive production techniques; redistribute income to the poor; increase official purchases from small scale, labor intensive firms; generate new technology locally; adapt existing technology; curtail wages in the organized sector; decrease subsidies to capital; increase capital utilization; set equilibrium foreign exchange rates; resist pressures for a too rapid expansion of upper level education and refuse to subsidize this level of education; increase the share of spending for primary schooling; stress scientific and technical education; improve wage flexibility at the higher levels; and reduce job rationing by educational certification.

Fill-in Questions

appropriate technology



_____________________________
capital goods





_____________________________

disguised unemployment



_____________________________
entrepreneurship




_____________________________
expected income




_____________________________
factor price distortions



_____________________________
flow






_____________________________
formal sector





_____________________________
Harris-Todaro model




_____________________________
informal sector




_____________________________
Keynesian theory of income and employment
_____________________________
labor aristocracy




_____________________________
limited technical substitutability of factors

_____________________________
price of foreign exchange



_____________________________
production function




_____________________________
stock






_____________________________
technology underemployment



_____________________________
unemployment





_____________________________
visible underemployment



_____________________________
zero marginal productivity of labor


_____________________________
Multiple-Choice Questions

1.  A production function 

a. shows the dependency output of the working population.

b. depicts the relationship between input and output.

c. states the relationship between products and income distribution.

d. is a function of natural resources in a country.

2.  Entrepreneurship is the 

a. technique to manage raw materials efficiently.

b. residual of a production function.

c. resource coordinating other productive resources.

d. blueprint on how to manage the labor force.

3. In a production function Y = F(L,K,N,E,T), Y is

a. national product.

b. capital.

c. natural resources. 

d. prevailing technology.

4.  Which of the following is not a capital good?

a. plant and equipment.

b. buildings.

c. inventories.

d. consumer goods.

5.  Labor skills are a major component of 

a. fertility.

b. population quality.

c. mortality.

d. morbidity.

6. The openly unemployed in LDCs are usually from all of the following except: 

a. persons 15 to 24 years old.

b. the educated.

c. residents of urban areas.

d. from the poorest 1/5 of the population.

7.  The unemployment rate is the 

a. employed plus unemployed divided by labor force.

b. total employment divided by population.

c. labor force divided by population.

d. unemployed divided by employed.

8.  Which of the following is not TRUE about unemployment in LDCs?

a. The unemployment rate for youths is twice that of people over 24.

b. Unemployment in rural areas is twice that of urban 

    areas.

c. World-wide there are fewer unemployed females than males, but the rate is higher for   

    women.

d. The unemployed are relatively well educated.

9. The invisibly underemployed 

a. are workers who are compelled to work short hours.

b. result from an inadequate use of workers' capacities.

c. are part-time workers who voluntarily work short hours.

d. none of the above is correct. 

10.  During the Great Depression workers in DCs who took inferior jobs as a result of being laid off were known as

a. disguised unemployed.

b. cyclical unemployed.

c. seasonally unemployed.

d. voluntarily unemployed.

11.  The theoretical basis for zero marginal productivity of labor was the concept of 

a. marginal rate of substitution.

b. labor force literacy.

c. substitution of leisure and work among labor.

d. limited technical substitutability of factors.

12. Disguised unemployment is 

a. when marginal revenue productivity of labor is zero.

b. the same as seasonal unemployment of LDC agricultural.

c. the rigid factor proportions in LDC agriculture and industry.

d. due to capital formation and the level of technology remaining constant.

13.  Which of the following is not TRUE about rural-urban migration?

a. Migration to the cities is a larger contributor than natural population growth to urban 

    labor growth in sub‑Saharan Africa.

b. In Latin America natural population increase is the major source of urban growth.

c. From 1975 to 2000, the number of cities in LDCs with populations over 1 million 

    increased from 20 to 50.

d. The urban share of total LDC population grew from 27 percent in 1975 and 35 percent 

     in 1992 to 40 percent in 2003.

14.  According to Harris and Todaro, creating urban jobs by expanding industrial output 

a. is insufficient for solving the urban unemployment problem.

b. will generate capital‑intensive technologies.

c. will generate more government revenue through urban wages.

d. induces government to increase minimum wages.

15.  The Keynesian remedy for unemployment is to 

a. decrease aggregate demand. 

b. reduce tax rates or lower interest rates.

c. decrease government spending. 

d. decrease private consumption and investment.

16.  The simplest explanation based on Lewis’s model for rural‑urban migration is 

a. that people migrate when urban wages exceed rural wages.

b. a higher expected income in urban areas.

c. better infrastructure in urban areas.

d. the availability of labor-intensive jobs in urban areas.

17. Policies to reduce factor price distortion include

I.   Encouraging small‑scale industry.

II   Decreasing subsidies to capital investors.

III  Reducing social security programs and payroll taxation.

IV  Setting market‑clearing exchange rates.

a. I and II only.

b. II and III only.

c. I, II and III only.

d. I, II, III and IV.

18.  Based on Nafziger and Auvinen’s study, high unemployment rates 

    I  represent a vast underutilization of human resources.

   II  are a potential source of social unrest and political discontent.

  III  are uncorrelated with poverty and inequality in LDCs.  

   IV are associated with middle age, rural, uneducated males.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II and IV only.



Education, Health, and 

                                         Human Capital
________________________________________________________________________

· Since the nineteenth century, the wage premium for skilled relative to unskilled labor has increased.
· Investment in human capital includes expenditures on education, training, research, and health, enhancing a people's future productivity.
· Economists who analyze the relative rates of returns to investment to primary education and secondary education in LDCs disagree on whether LDCs should put greater priority on primary education.
·  Psacharopoulos and Woodhall, who find that the higher average returns are from primary education, argue for more emphasis on primary education. 
· Knight, Sabot, and Hovey, however, question this emphasis in a study that shows that the marginal rates of returns to the cohort entering into the labor market were lower for primary education. 
· Public expenditure per student for higher education in LDCs is about ten times as high as for primary education.
· In LDCs the expansion of primary education redistributes benefits from the rich to the poor, while the growth of secondary and higher education redistributes income from the poor to the rich. 
· In most LDCs, boys are sent to school far more often than girls.
· One planning method for producing specialized skills is to use input output relationships to determine future demand for various types of high level personnel. 
·  If wages are adjusted more closely to productivity, LDC educational planning is easier.
· On the job training tends to balance demand for, and supply of, training. 
· Distance learning through electronic media can dramatically reduce the cost of continuing education and secondary and higher education, including teacher training.
· Some economists argue that LDCs do not lose from the brain drain, since the worker earns an income equal to his or her marginal product. 
· However we can question this analysis, since marginal product may exceed the wage, high level skills increase the productivity of other production factors, and government highly subsidizes education in developing countries.
· There is no evidence of a backward bending supply curve for labor unique to LDCs. Furthermore the aggregate supply curve of labor in LDCs is clearly upward sloping.
· Although affluent Asians may be more likely to consider manual work degrading than affluent Westerners, these attitudes appear to be primarily related to the more abundant supply of cheap labor in Asia.
· Poor nutrition and health reduce labor productivity. However health has improved, and nutrition has probably not deteriorated in LDCs since the 1960s.
· HIV infection and AIDS-related deaths have had a substantial adverse impact on economic growth in some developing countries, especially in Africa. 

Fill-in Questions

backward bending labor supply curve

___________________________
brain drain





___________________________
disability-adjusted life years (DALYs)

___________________________
education as screening human capital


___________________________
monopsonistic





___________________________
socialization





___________________________
Multiple-Choice Questions

1.   In 2000, the Economist estimated that only ______ of some 360 million internet users are in Africa.

a. 60 million.

b. 10 million.

c. 3 million.

d. 0.1 million.

2.  In a competitive economy, a worker earns an income equivalent to

a. the amount of brain drain. 

b. marginal utility.

c. marginal product.

d. the substitutability of labor to capital.

3.  The marginal product model assumes that 

a. individuals pay the full cost of their education.

b. government subsidizes schooling.

c. educated persons migrate more.

d. capital and unskilled labor are complements.

4.  Gunnar Myrdal argues that a major barrier to high labor productivity is

a. due to a lack of education.

b. a class system in which the elite are contemptuous of manual work.

c. upper‑ and middle‑class Westerners.

d. the lack of bargaining power by cheap labor.

5. Of the 57 million people dying worldwide in 2002, ________ were from stroke and heart disease and _______from cancer, disproportionately from DCs.

a. 17 million, 7 million.

b. 7 million, 0.7 million.

c. 3 million, 1 million.

d. 0.5 million, 5 million.

6. Which of the following is NOT true about child mortality? 

a. About 18 percent of the world’s deaths are among children less than five years old. 

b. More than 98 percent of child deaths were in LDCs. 

c. World-wide child mortality rates increased from 1990 to 2002. 

d. 19 of the 20 countries with the highest child mortality were in Africa.

7.  The disease burden could be measured by calculating _________, combining years lost through premature death and from living with disability.

a. mortality-adjusted lifelong.

b. premature-living age.

c. life mortality-fertility ratio.

d. disability-adjusted life years.

8.  Which of the following is TRUE about HIV/AIDS?

I    Women comprised 58 percent of HIV-positive adults in the sub-Sahara.

II   AIDS infection rates in Africa are highest among urban high-income, skilled men

      and their partners.

III   In 2001, 40 million people with HIV/AIDS lived in sub-Saharan Africa.

IV   Since 1981, 120 million people have died of AIDS.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II, III and IV.

9.  Which of the following is not TRUE about education in LDCs? 

a. Public expenditure per student for higher education is about ten times as high as for 

    primary education.

b. The expansion of primary education redistributes benefits from the rich to the poor.

c. Economists unanimously agree that LDCs should put greater priority on primary 

    education.

d. Boys are sent to school far more often than girls.

10.  Simon S. Kuznets argues that the major stock of an economically advanced country is not its physical capital but 

a. natural resources.

b. body of knowledge.

c. land.

d. quantity of labor

11.  Labor productivity is higher in DCs such as Japan and Germany than in LDCs due to 

a. higher formal education and training.

b. better health and physical condition of the labor force.

c. Both a and b are correct.

d. None of the above is correct.

12.  The emigration of highly-skilled people from the developing countries is known as

a. the brain drain.

b. human capital deterioration.    

c. productivity.

d. labor degradation.

13.  Which of the following is not true?

a. Development generally improves the health system, while better health increases 

    productivity, social cohesion, and economic welfare.

b. Life expectancy is probably the best single indicator of national health levels.

c. Life expectancy in Africa increased steadily from 1994 to 2003 due to better 

    health care.

d. There are growing inequalities in investment in health worldwide.

14.  By 2010, the U.S. Census Bureau expects life expectancy in the two southern African countries of Botswana and South Africa to be 

a. 30 to 40 years, about the same as in 1995. 

b. 30 to 40 years, a fall of more than 10 years from 1995. 

c. 50 to 60 years, about the same as in 1995. 

d. 50 to 60 years, an increase from 1995. 

e. 70 years, an increase from 1995.



Capital Formation, Investment               

                                         Choice, Information Technology, 

                                          and Technical  Progress  

_______________________________________________________________________

· The growth in total factor productivity is the increased worker productivity arising from factors other than increases in capital per worker.

· Capital formation and technical progress are major factors responsible for the rapid economic growth of the West and Japan in the last 125 150 years.

· Economic growth cannot be explained merely by increases in inputs.

· Econometric studies of developed countries indicate that the increase in the productivity of each worker per unit of capital is a more important source of growth than the addition in capital per worker. 
· Major explanations for this increase in productivity are advances in knowledge, greater education and training, learning by experience, organizational improvement, economies of scale, and resource shifts.

· However, research on the sources of growth in developing countries provides evidence that the contribution of capital per worker is more important to economic growth than that of worker productivity per unit of capital. 
· Reasons for the greater contribution of capital to growth in LDCs are higher marginal productivity of capital and higher growth rates of capital.

· Technical progress results from a combination of research, development, invention, and innovation.

· Technical knowledge acquired from abroad is costly and usually incomplete.

· LDC planners must examine existing technologies for possible substitution of labor for capital. Nevertheless the maximization of labor absorption is inadequate as an investment criterion. 
· Labor intensive techniques may sometimes not be used because of fixed capital labor ratios in the industry, the high cost of adapting and modifying existing technologies, scarce administrative and managerial resources needed to implement labor intensive techniques, and distortions that increase the price of labor relative to that of capital.

· Social benefit cost analysis chooses investment projects that maximize the discounted net social benefits per unit of capital invested.

· The discount rate should be set high enough to equate investment with savings and capital imports.

· The investment planner who wants to avert risk can place less value on probability distributions with a wide relative dispersion around the average.

· Market prices must be adjusted for externalities, distribution, indivisibilities, monopolies, and factor price distortions to obtain shadow prices. These prices aid the planner in adjusting returns away from commercial profitability to social profitability.

Fill-in Questions

absorptive capacity



_______________________________
accelerator theory of investment

_______________________________
applied research



_______________________________
basic research




_______________________________
capital import




_______________________________
depreciation




_______________________________
development




_______________________________
discount rate




_______________________________
efficiency wage



_______________________________
engineering mentality



_______________________________
factor price distortion



_______________________________
financial intermediaries


_______________________________
gross investment



_______________________________
incremental capital output ratio (ICOR)
_______________________________
indigenization




_______________________________
intermediate technology


_______________________________
invention




_______________________________
investment




_______________________________
investment criteria



_______________________________
investment rate



_______________________________
learning curve




_______________________________
maximum labor absorption investment criteria  _____________________________
monopoly




_______________________________
natural public monopoly


_______________________________
net investment




_______________________________
net present value



_______________________________
oligopoly




_______________________________
present value (V) of the net income stream
_______________________________
price of knowledge



_______________________________
productivity paradox



_______________________________
residual




_______________________________
risk





_______________________________
sales tax




_______________________________
shadow prices




_______________________________
social benefit-cost analysis


_______________________________
social profitability



_______________________________
technical progress



_______________________________
technological followership


_______________________________
total factor productivity (TFP)

_______________________________
uncertainty




_______________________________
value added




_______________________________
Multiple-Choice Questions

1.  Canada, France, Germany, Italy, Japan, the United Kingdom, and the United States are

a. G-7 countries.

b. countries with highest productivity growth in the world since 1960.

c. countries with decreasing TFP growth since 1990s.

d. countries with the lowest information technology equipment and software index prices.

2.  Which of the following is not TRUE?

a. In 1990, the world had 98 mainline phones and 2 mobile phones per 1,000 people; in 

    2001, 169 mainline and 153 mobile per 1,000.

b. Mobile phones do not require the massive infrastructure investment that mainline 

    telephones require.

c. In 2001, the world information technology expenditures were about 1/20 of 1% of 

    world gross investment.

d. In 2001, internet users per 1,000 people in middle income countries were greater than 

    high income countries.

3.   James Pickett, D. J. C. Forsyth, and N. S. McBain, on the basis of field research in Africa, concluded that business people often want to use the most advanced design without knowing that it may not be the most profitable.  They attribute this attitude to

a. maximum capital absorption.

b. factor‑price distortions.

c. engineering mentality.

d. intermediate technology.

4.  Which of the following is TRUE in LDCs?

a. Labor is often underemployed, having a low alternative cost.

b. It is cheaper to hire labor in LDC because its productivity is relatively higher than in 

    DCs.

c. Adapting existing Western technology to LDC conditions requires little creativity.

d. Labor is usually considered the scarce factor.

5.  Assume B is social benefits, C is social costs, r is the social discount rate, t is time, and T is the life of the investment project. The net present value (V) of the stream of benefits and costs is

a.  
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6. The efficiency wage is the

a. wage costs per unit of output.

b. wage rate that prevails in LDCs.

c. wage rate divided by the productivity of labor.

d. marginal product of labor divided by wage.

7.  Suppose a project results in a net stream of $200 per year for 4 years, but nothing thereafter. Assume that the discount rate is 5 percent.  The discounted value of the total income stream over the 4‑year period is

a. 800.

b. 40,000.

c. more than zero but less than 800. 

d. less than zero.

8. Vaccinating people for measles, rubella, polio, and cholera to substantially increase net social benefits by improving the health and productivity of the population is an example of

a. economies of  scale.

b. external economies.

c. negative externality.

d. net present value.

9. Which of the following is not a natural public monopolies? 

a. mobile phone.

b. electricity.

c. water supply.

d. postal service.

10.  An example of external diseconomies is

a. scholarship for technical education.

b. R&D in robotics.

c. a new drug to cure AIDS.

d. environmental pollution.

11.  A case where internal economies of scale bring about a continuously falling average cost curve that makes having more than one firm in an industry inefficient is illustrative of  

a. a natural monopoly.

b. an LDC’s limit of one firm to an industry.

c. an individual firm facing a horizontal (perfectly elastic) demand curve in LDCs.

d. the existence of oligopoly.

12.  Market prices adjusted to consider differences between social cost‑benefit and private cost‑benefit calculations are 

a. price distortions.

b. consumer surplus.

c. shadow prices.

d. exchange rates.

13.  In the long run, expanding educational and training facilities, transportation and communication, and other infrastructure in LDCs should increase 

a. productivity paradox.

b. absorptive capacity.

c. the residual.

d. uncertainty.

14.  In the 1980s, economists studying the sources of growth observed no positive relationship between information and communications technology (ICT) investments and productivity.  This is known as

a. Solow residual.

b. productivity paradox.

c. technological followership.

d. Stiglitz discrepancies.

 15. “You can see the computer age everywhere but in the productivity statistics” is attributed to which economist?

a. Dale Jorgenson.

b. Joseph Stiglitz.

c. Robert Solow.

d. Theodore W. Schultz.

16. Lack of absorptive capacity in developing countries results from 

a. inadequate government bureaucracy.

b. small size of infrastructure. 

c. too few innovative entrepreneurs. 

d. unsuitable technology. 

e. All of the above are correct. 



Entrepreneurship, Organization, and Innovation
________________________________________________________________________

· To Schumpeter the entrepreneur is an innovator, one who carries out new combinations. These innovations are the source of private profit and economic growth. However, LDCs need not unduly emphasize developing new combinations, since some technology can be borrowed or adapted from abroad.
· Coase identifies the entrepreneur, who organizes within the firm, and the price mechanism as the two major coordinating instruments within the economy. 
· The entrepreneur differs from the manager of a firm, who runs the business on established lines. The entrepreneur can fill gaps, complete inputs, and make up for market deficiencies.
· Since they assume that most skills needed for an enterprise can be purchased in the market, Western economists frequently limit the entrepreneurial function to perceiving market opportunities and gaining command over resources. 
· However, LDC entrepreneurs may have to provide some basic skills themselves, such as marketing, purchasing, dealing with government, human relations, supplier relations, customer relations, financial management, production management, and technological management, which are all skills in short supply in the market.
· Although the family enterprise has the advantage of quick, unified decision making, its disadvantages include a conservative approach to taking risks, reluctance to hire professional managers, and paternalism in labor relationships.
· McClelland contends that a society with a generally high need for achievement produces energetic entrepreneurs who bring about rapid economic growth. 
· Hagen argues that societies where children are raised democratically, so that they are encouraged to take initiative and be self reliant, are more likely to produce entrepreneurs. 
· Industrial entrepreneurs in LDCs come from a wide variety of occupational backgrounds, including trade, sales, and crafts. 
· According to Weber, the spirit of the modern capitalist entrepreneur in Western Europe in the sixteenth century was found disproportionally among Puritans, whose religious asceticism manifested itself in worldly activity. 
· Generally entrepreneurs come from a much higher socioeconomic background than the general population. In addition they tend to be upwardly mobile.
· Although education can increase the entrepreneurial supply by making available skills needed for business, it can decrease this supply by increasing a person's job options.
· Cultural norms in LDCs defining how women should behave at work limit female entrepreneurial activity.

· Organization and innovation are important for growth in socialist as well as capitalist economies. It had been difficult for socialist countries, particularly the Soviet Union, to motivate managers and technicians to innovate.
· Under China's post 1978 industrial reform, self employed individuals can innovate, start a new enterprise, combine capital and personnel, and, albeit with certain limits, expand the firm. 

Fill-in Questions

Entrepreneurship



____________________________
Innovation




____________________________
marginal individuals



____________________________
monopoly advantage



____________________________
need for achievement



____________________________
state-owned enterprises (SOEs)

____________________________          
stationary state



____________________________
Multiple-Choice Questions

1.  Which of the following is not an assumption of Schumpeter’s stationary state?

a. Perfect competition.

b. An economy below full employment.

c. No savings or technical change.

d. No entrepreneurial function is required.

2.  The entrepreneur can be viewed as the

I    coordinator of other production resources.

II   decision maker under uncertainty.

III  innovator.

IV  gap filler and input completer. 

a. I and II only.

b. II and III only.

c. I, II and III only.

d. I, II, III and IV.

3.  Technical advance involves 

a. the development of pure science, invention, innovation, financing the innovation, 

    and the innovation's acceptance.

b. introducing new products, modifying production functions, creating credit, and making 

    profits.

c. innovation, investment, credit creation, and economic growth.

d. patent management, resource gains, mature innovation , and speculative gains.

4.  Hagen’s On the Theory of Social Change uses psychology, sociology, and anthropology to explain how a traditional agricultural society 

a. learns to accept its fate.

b. attains continuing technical progress.

c. produces an accommodating personality with a high need for achievement.

d. has a social structure where high status is attained.

5.  According to William Baumol, under oligopolistic competition among large, high-tech business firms, innovation has 

a. created stationary economies of scale.

b. maintained the relationship between firms and their clients.

c. replaced price as the important competitive weapon.

d. limited the expansion of firms.

6.  The Protestant Ethic and the Spirit of Capitalism was written by

a. Adam Smith.

b. Max Weber.

c. Joseph Schumpeter.

d. William Baumol.

7.  Capitalism is an economic system  

a. based on government intervention in the means of production.

b. that originated in the United States in the 19th century.

c. where private owners of capital make decisions based on profit.

d. that dominated developing economies in the 19th century.  

8.  According to Weber’s thesis

a. Protestants disapproved of accumulating wealth.

b. Protestants failed to restrict extravagance and conspicuous consumption.

c. Roman Catholicism expressed its asceticism in a secular vocation.

d. capitalism was most advanced in Protestant countries.

9.  Monopoly advantage is usually the result of greater opportunities such as 

I    access to more economic information than competitors.

II   superior access to training and education.

III  a lower discount of future earnings.

IV  larger firm size.

a.  I and II only.

b.  II and III only.

c.  I, II and III only.

d.  I, II, III and IV.

10.  Which of the following was a socialist country?

I     Holland. 

II    Soviet Union.

III   China.

IV   India

a. I and II only.

b. II and III only.

c. III and IV only.

d. I and IV only.  

11.  Which of the following is TRUE about gender and business world?

a. There are more women than men in U.S. business because of the aspirations of U.S. 

    girls.

b. There are relatively few women in U.S. business partly because of female 

    socialization.

c. LDC businesswomen have a better chance than men of getting credit from bankers and 

    suppliers.

d. Businesswomen in India are viewed as naturally stronger, less emotional, more 

    socially adept, and more rational than businessmen.

12.  Which of the following is an example of a Schumpeterian innovation?

a. An existing internet provider provides competition to two other providers in Dayton, 

    Ohio. 

b. The production and marketing of the Model T Ford in the 19-teens.

c. The invention of the Stanley steamer.

d. An American buying a stock in the Philippines’ stock market.

13.  Joseph Schumpeter is the exceptional economist who links the entrepreneur to

a. oligopolistic capitalism.

b. resource management.

c. innovation. 

d. land and labor.



Natural Resources and the      Environment: Toward 

                     Sustainable Development

________________________________________________________________________

· Land is immobile and potentially renewable. Natural resources are mobile, but most are nonrenewable.Environmental resources are resources provided by nature that are indivisible.
· Dutch disease is the adverse competitive effect that local currency appreciation due to a booming export sector has on other exports and import substitutes.
· Sustainable development refers to maintaining the productivity of natural, produced, and human assets from generation to generation. 
· Panayotou contends that environmental degradation originates from market distortions, defective economic policies, and inadequate property rights definitions, meaning that environmental problems are basically economic problems. 
· The efficient level of pollution emission is where marginal damages are equal to marginal abatement costs.
· Contingent valuation is the use of questionnaires from sample surveys to elicit the willingness of respondents to pay for an environmental good. 
· About 14 percent of the world population lives on arid or semiarid land
· Economic underdevelopment in the tropics is partly a matter of geography. 
· Tropical countries generally will not provide global public goods, such as the atmosphere or biosphere, in sufficient quantity, since many benefits spill over to other countries. 
· Developed and transitional countries produce a disproportional share of the world's carbon dioxide emissions that contribute to global warming. 
· Market-based "green taxes" are more efficient than physical targets in reducing carbon emissions. 
· The Club of Rome's study, The Limits to Growth, concluded that the global economic system will collapse during the twenty first century. 
· Daly's impossibility theorem argues that there are not enough resources in the world to support the whole world at U.S. style consumption levels.
· Our continuous use of natural resources increases entropy, a measure of the unavailable energy in a thermodynamic system. 
· The World Bank subtracts resource depletion and environmental degradation from gross savings to get changes in wealth.
· The Genuine Progress Index (GPI) is a comprehensive indicator of well-being that subtracts depletion of nonrenewable resources, long-term environmental economic damage, ozone depletion, loss of wetlands, and loss of farmlands from GDP. 
· Lifeboat ethics, used as an argument for denying economic assistance to LDCs, is based on a number of flawed premises. 

Fill-in Questions

adjusted net savings




____________________________
arid land





____________________________
balance of trade




____________________________
biodiversity





____________________________
cartel






____________________________
Coase's theorem




____________________________
common property resources



____________________________
contingent valuation




____________________________
Dutch disease





____________________________
Entropy





____________________________
environmental resources



____________________________
external diseconomies




____________________________
externalities 





____________________________
free riding





____________________________
Genuine Progress Indicator (GPI)


____________________________
global public goods




____________________________
global warming




____________________________
greenhouse gases




____________________________
green markets





____________________________
green taxes





____________________________
impossibility theorem (Daly)



____________________________
international tradable emission permits

____________________________
lifeboat ethic





____________________________
marginal abatement cost (MAC)


____________________________
marginal damage (MD)



____________________________
Montreal Protocol




____________________________
net primary productivity (NPP) 


____________________________
OECD






____________________________
proven reserves




____________________________
public goods





____________________________
resource curse





____________________________
sustainable development



____________________________
tragedy of the commons



____________________________
transactions costs




____________________________
Multiple-Choice Questions

1.  Progress that meets the needs of the present without compromising the ability of future generations to meet their own needs is

a. the tragedy of commons.

b. sustainable development.

c. net primary productivity (NPP).

d. the impossibility theorem.

2.  Land and natural resources are considered 

a. capital accumulation.

b. common property resources.

c. nonproducible.

d. output.

3.  The Organization of Petroleum Exporting Countries (OPEC) is a(n) ________ whose members agree to limit output and fix prices.

a. monopoly.

b. entropy.

c. industry.

d. cartel.

4.  Air pollution from automobile exhausts, and water pollution steel plants are examples of

a. external economies.

b. negative externalities.

c. internal spillover.

d. social distortion.

5. Which of the following is an example of tragedy of commons?

a. over fishing.

b. smoking in a public place.

c. excessive rain.

d. common use of public toilets.

6.  The government levying taxes on polluters or charging a surcharge for pesticide use are

a. examples of Coase’s theorem.

b. internalization of negative spillover effects.

c. marginal abatement cost.

d. examples of a free rider.

7.  Negative externality is also known as

a. external diseconomies.

b. marginal damage.

c. public goods.

d. resource curse.

8.  Which of the following country has 25 percent of the world's estimated oil reserves and the lowest cost production as well as a dominant role in OPEC pricing?

a. Russia. 

b. Saudi Arabia.

c. Iraq.

d. Venezuela.

9.  The booming of North Seas' gas export revenues in the 1970s, that appreciated the guilder, making industrial exports more costly in foreign currencies and increasing foreign competition and unemployment, is known as 

a. Trade deficit.

b. Blind river disease.

c. Dutch disease.

d. Economic turmoil.

10.  Michael Roemer's three‑sector model shows that growth in the booming export sector 

I    reduces the price of foreign exchange.

II   retards other sectors' growth by reducing incentives to export other commodities.

III  reduces incentives to replace domestic goods for imports. 

IV  raises factor and input prices for non-booming sectors.

a. I and II only.

b. II and III only.

c. I, II and III only.

d. I, II, III and IV.

11. Theodore Panayotou (1993) argues that environmental degradation originates from the following EXCEPT

a. market distortions.

b. defective economic policies.

c. inadequate property rights definitions.

d. the expansion of capitalism.

12. Deforestation 

I    leads to localized flooding.

II   reduces sustainable logging potential.

III  reduces watershed stability.

IV augments carbon restoration provided by forests.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II, III and IV.

13.  According to Coase’s theorem, when property rights are well defined and legally enforceable, and transactions costs are not prohibitive,

a. population growth leads to rigid land rights.

b. participants will organize their transactions voluntarily to achieve efficient  outcomes.

c. violence, displacement, erosion, and poverty are minimized.

d. individuals’ overuse of the biosphere is curtailed.

14.   Irreversibility refers to

a. natural resource that cannot be reproduced in the future if we fail to preserve 

    them now.

b. obtaining intellectual property rights for those developing and patenting new products.

c. natural extinction of various species in DCs.

d. industrialization replacing agriculture in LDCs.

15.   Many environmental resources are public goods, which are characterized by 

a. rivalry and exclusion in consumption.

b. nonrivalry and nonexclusion in consumption.

c. rivalry but nonexclusion in production.

d. nonrivalry but exclusion in usage.

16.  Biodiversity 

a. includes genetic, species, ecosystem, and functional diversities.

b. refers to diversifying earth’s nonrenewable resources.

c. refers to reconstruction of tropical rainforests.

d. refers to biological effects on commercial plantation.

17.   The greenhouse effect is the phenomenon by which 

a. biological diversity is dominant in agricultural production.

b. the globe’s water pollution affects plankton. 

c. the earth's atmosphere traps infrared radiation.

d. climatic changes occur naturally in the forest.

18.  The Montreal Protocol, signed in 1987 and strengthened in 1990, 

a. attains the global optimal level of common property resource.

b. relies on internationally tradable emission permits.

c. minimizes free riders of public goods.

d. reduces ozone depletion through the cutting of chlorofluorocarbon 

    production.

19.  The Club of Rome study, The Limits to Growth, suggests that as natural resources diminish

a. capital increasingly replaces labor.

b. technological change compensates for capital depletion.

c. costs rise, leaving less capital for future investment.

d. contingent valuation becomes critical.

20.  The Genuine Progress Indicator is 

a. also known as Index of Sustainable Economic Welfare per capita.

b. GDP plus resource depletion and environmental cost.

c. resource depletion and environmental cost divided by GDP per capita.

d. increasing from 1976 to 2000.



Monetary, Fiscal, and Incomes Policy, and Inflation  
________________________________________________________________________

· Central banks in LDCs generally have less effect on expenditure and output than in DCs.

· Tax revenue as a percentage of GNP in LDCs is about 18 percent compared to 38 percent in DCs.
· The increase in tax ratios with GNP per capita reflects both the growth in the demand for public services and the capacity to levy and pay taxes.
· Direct taxes (such as taxes on property, wealth, inheritance, and income) account for about one third of revenue sources in LDCs and about one-half to two thirds in DCs. 
· Major indirect taxes in most LDCs are those on international trade, production, and internal transactions, which, however, distort resource allocation. 
· Direct taxes generally have a higher elasticity than indirect taxes.
· Some DCs use the progressive income tax to mobilize large amounts of public resources, improve income distribution, stabilize income and prices, and prevent inefficient use of resources, often arising from a heavy reliance on indirect taxes. 
· A number of LDCs have introduced the value-added tax. The appeals of the value-added tax are simplicity, uniformity, and the generation of substantial revenues.
· Developing countries cannot use fiscal policy to stabilize income and prices so effectively as developed countries can.
· A relatively small percentage of government spending in LDCs is on health, social security, and welfare, and a relatively high percentage on infrastructure.
· The annual inflation rate in LDCs increased from less than 10 percent in the 1960s to over 20 percent in the 1970s and over 70 percent in the 1980s, but fell to 16 percent in the 1990s. The highest inflation rates, in Latin America, dropped to about 30 percent yearly in the 1990s.
· Demand pull is not an adequate explanation for inflation in LDCs. Inflation may be cost push (from the market power of businesses and unions), ratchet (from rigid prices downward), or structural (slow export growth and inelastic food supply), with added momentum, once started, from inflationary expectations. 
· Countries with high rates of inflation may use incomes policy--wage and price guidelines or controls, and exchange-rate fixing--together with monetary and fiscal stabilization to reduce increases in the price index. 
· Some economists argue that inflation can promote economic growth by redistributing income from low savers to high savers. 
· Yet recent evidence indicates that inflation less than 30-40 percent yearly does not hamper growth, indicating that LDCs probably should not be preoccupied with controlling mild inflation.
· The LDC money markets are often highly oligopolistic and financially repressive, distorting interest rates, foreign exchange rates, and other financial prices. 
· When financial markets channel funds to those with productive investment opportunities poorly, the economy operates inefficiently, as in Asia during the 1997-98 financial crisis.

Fill-in Questions

adverse selection




______________________________
capital market





______________________________
cascade tax





______________________________
consumer price index (CPI)



______________________________
cost push inflation




______________________________
crawling peg





______________________________
currency board




______________________________
current account




______________________________
demand pull inflation




______________________________
direct taxes





______________________________
elastic tax





______________________________
financial liberalization



______________________________
financial repression




______________________________
fiscal incentives




______________________________
fiscal policy





______________________________
GDP deflator





______________________________
Group of 10





______________________________
Hyperinflation





______________________________
import substitutes




______________________________
incomes policy




______________________________
indirect taxes





______________________________
inflation





______________________________
inflationary expectations



______________________________
inflation tax





______________________________
international balance of merchandise trade

______________________________
monetary policy




______________________________
monopoly rents




______________________________
moral hazard





______________________________
political inflation




______________________________
progressive tax




______________________________
ratchet inflation




______________________________
regressive tax





______________________________
seigniorage





______________________________
social goods





______________________________
stagflation





______________________________
value-added tax (VAT)



______________________________
Wagner's law





______________________________
Multiple-Choice Questions

1.  Monetary policy affects the ________ and ________. 

a. reserve, unemployment.

b. money supply, interest rate.

c. taxes, exchange rate. 

d. stock price, minimum wage.  

2.  By using fiscal policy, i.e. varying ________ and/or ___________, governments achieve goals for output and employment growth as well as price stability.

a. demand-pull inflation, tax elasticity.

b. interest rates, financial liberalization

c. interest rates, tax rates.

d. tax rates, government spending.

3.  The Bank of England and the Federal Reserve 

a. are central banks.

b. are branches of commercial banks.

c. use fiscal policy to influence GDP.

d. loan money to most of LDC commercial banks.

4.  __________ states that as real GNP per capita rises, people demand relatively more social goods and relatively fewer private goods.

a. Incomes policy.

b. Moral hazard.

c. Wagner's law.

d. Fiscal policy.

5.   If people with higher incomes pay a higher percentage of income in taxes, the income tax structure is

a. progressive.

b. regressive.

c. value-added taxes (VAT).

d. excise taxes.

6.    The property tax, wealth tax, inheritance tax, and income taxes such as personal and corporate taxes are

a. indirect taxes.

b. direct taxes.

c. inelastic.

d. value-added tax.

7.  Fiscal incentives to attract businesses from abroad include 

I     tax holidays. 

II    accelerated depreciation.

III   import duty relief.

IV   lower tax rates for reinvested business profits.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II, III and IV.

8. Which of the following is NOT true?  

a. Taxes on international trade are the major source of tax revenue for low‑income 

    countries with poor administrative capacity. 

b. Import duties can restrict luxury goods consumption.

c. Several LDCs have used value-added taxes to raise a substantial fraction of revenues.

d. Cascade tax, a form of progressive tax, is dominant in DCs.

9.  Inflation is measured by the

I     consumer price index (CPI).

II    GDP deflator.

III   current account.

IV   depreciation.

a. I and II only.

b. I and III only.

c. III and IV only.

d. I, II and III.

10.  When the financial system lacks the capability of making judgements about investment opportunities due to asymmetric information, leading to potentially bad credit risks, lending is subject to

a. adverse selection.

b. moral hazard.

c. social goods.

d. hyperinflation.

11. During stagflation 

I    an increase in aggregate spending will eliminate the recession.

II  a decrease in aggregate spending will reduce inflation.

III  government faces contradictory goals.

IV the central bank decreases money supply to reduce inflation.

a.  I and II only.

b.  III and IV only.

c. I, II and III only.

d. I, II, III and IV.

12.  Central banks in LDCs generally have less effect on expenditure and output than in DCs because of 

I     an externally dependent banking system.

II    a poorly developed securities market.

III   a low percentage of demand deposits divided by the total money supply.

IV   the relative insensitivity of investment and employment to monetary policies.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II, III and IV.

13.  Under financial repression

I   banks engage in non-price rationing of loans.

II  banks face pressure for loans to those with political connections.

III banks charge a high premium on foreign investments.

IV banks depend on foreign banks to set interest rates.

a.  I and II only.

b.  III and IV only.

c.  I, II and III only.

d.  I, II, III and IV.

14.  Which of the following are costs of inflation?

I    Inflation weakens the creation of credit and capital markets.

II   Inflation distorts business behavior, especially investment behavior.

III  Inflation increases the prices of foreign goods relative to domestic goods.

IV  Inflation imposes a tax on the holders of money.

a.  I and II only.

b.  III and IV only.

c.  I, II and IV only.

d.  I, II and III only.

15.  With ________________, prices rise in the first sector, remain the same in the second, and increase overall.

a.  ratchet inflation.

b.  inflationary expectations.

c.   import substitution.

d.  demand-pull inflation.

16.  Demand‑pull inflation results from 

a.  demand for government spending on public goods goes down due to lack of financial backup through tax collection.

b.  consumer, business, and government demand for goods and services in excess of an economy's capacity to produce.

c.  a shortage of demand for good and services in excess of supply during depression.

d.  demand for public goods is greater than demand for consumer goods.



Balance of Payments, Aid, and Foreign Investment  

________________________________________________________________________

· Globalization involves the expansion of economic activities across nation states, deepening economic openness, integration, and interdependence among countries.
· External openness generally benefits most of the world but is likely to marginalize peripheral countries, especially their poorest citizens. 

· A capital inflow enables a country to invest more than it saves and import more than it exports. 
· A newly industrializing country that effectively uses an inflow of foreign funds should usually be able to pay back its debt from increased output and productivity.

· Exports minus imports of goods and services equal the international balance on goods, services, and income. 
· Aid, remittances, loans, and investment from abroad finance a balance on goods and services deficit.

· Countries give concessional aid to LDCs for reasons of national economic and political interest, ideology, humanitarianism, and global political maintenance.

· In 2001, Organization for Economic Cooperation and Development (OECD) countries (the West and Japan) fell to $51.4 billion, 0.22 percent of GNP. Aid given by the United States, the largest giver, was also lowest as a percentage of GNP. The grant component of OECD concessional aid to LDCs was 94 percent. 

· The major multilateral agencies providing concessional aid to LDCs were the International Development Association (a World Bank affiliate), the Commission of the European Communities, and the UN.

· A large share of international trade is multinational corporations’ intra-firm trade. Although the United States still accounts for the largest share of the world's foreign, private investment, its share steadily declined between 1971 and 2001.

· The largest multinational corporations have an economic strength comparable to that of the LDCs with which they bargain. In 2001, the top ten recipients received 73 percent of inward foreign direct investment (FDI). China was the leading LDC recipient of FDI.

· Although MNCs in developing countries provide scarce capital and advanced technology for growth, doing so may increase LDC dependence on foreign capital and technology. The LDCs need a judicious combination of MNCs, joint MNC local ventures, licensing, and other technological borrowing and adaptation.

· Loans to developing countries at bankers’ standards fell from 1990 to 2002.

· Why doesn’t capital flow from rich to poor countries? LDC capital markets are imperfect and often subject to political risk.

· Why does 10 percent of the rest of the world’s savings flow to the United States? The US has the most highly developed market for financial assets, and attracts savings as the world’s largest reserve and trading currency. 

Fill-in Questions

aid (official development assistance)


________________________

anti-globalization 




________________________
average propensity to remit



________________________
bilateral aid





________________________
capital import





________________________
concessional funds




________________________
current account




________________________
direct investment




________________________
euro






________________________
Eurocurrency





________________________
Eurodollars





________________________
Fungible





________________________
General Agreements on Tariffs and Trade

________________________
globalization 





________________________
global public goods 




________________________

hawala system 




________________________

international balance of payments statement 

________________________
international balance on goods and services

________________________
International Development Association (IDA)
________________________
 International Monetary Fund (IMF)


________________________
Investment





________________________
multilateral aid




________________________
multinational corporations



________________________
oligopoly





________________________
portfolio investment




________________________
public goods





________________________
remittances





________________________
turnkey projects




________________________
vertical integration




________________________
World Bank





________________________
Multiple-Choice Questions

1.  Dani Rodrik points out that 

a. an economy more open to foreign trade and investment faces a more inelastic demand 

    for unskilled workers.

b. employers and consumers can more readily replace domestic workers with foreign 

    workers by investing abroad or buying imports. 

c. globalization increases job insecurity.

d. financial liberalization in LDCs leads to collapse of the economy.

2.  Which of the following statement is NOT true about OECD aid?

a. During the 1980s, OECD countries contributed four-fifths of the world's bilateral   

    official development assistance to LDCs. 

b. In the early 1990s, the OECD contributed 98 percent of all aid.

c. The OECD aid increased from $6.9 billion in 1970 to $8.9 billion in 2001.

d. In 2001, only Denmark, Norway, Sweden, the Netherlands, and Luxembourg  

    exceeded the aid target for LDCs.

3.  Japan's aid programs 

I     are understaffed, politically muddled, and administratively complex.

II    are biased toward Asia.

III   go primarily to least developed countries in Africa. 

IV   focus on loans and the grant element of aid is low.

a. I, II and III.

b. I, II and IV.

c. II, III and IV.

d. I, II, III and IV.

4. Aid or official development assistance (ODA) includes 

I    development grants.

II   loans with at least 25 percent grant element.

III  military assistance.

IV  technical cooperation.

a. I and II only.

b. I, II and III only.

c. I, II and IV only.

d. I, II, III and IV only.

5.    I = S + F   

The equation above states that a country can increase its new capital formation (or investment) through its 

a. own domestic savings and by inflows of capital from abroad.

b. stock market and fiscal policy.

c. savings from abroad and financial outflow.

d. savings and financial liberalization.

6. MNCs can help the developing country to

I    Finance a savings gap or balance of payments deficit.

II   Obtain foreign technology and innovative methods of increasing productivity.

III  Generate appropriate technology by adapting existing processes. 

IV  Employ domestic labor, especially in skilled jobs.

a. I and II only

b. III and IV only

c. I, II and III only

d. I, II, III and IV

7.  An annual summary of a country's international economic and financial transactions is

a. the capital account.

b. the international balance of payments statement.

c. the long term current account.

d. the trade account.

8.  Hollis Chenery and Alan Strout  identify three development stages in which growth proceeds at the highest rate permitted by the most limiting factors. These factors are

I    the skill limit. 

II   the savings gap.

III  the fiscal gap.

IV  the foreign exchange gap.

a. I and II only.

b. II and IV only.

c. I, II and III only.

d. I, II and IV only.

9. Some economists and third‑world policy makers criticize MNCs, arguing that they have a negative effect on the developing country because they

I     Increase the LDC's technological dependence on foreign sources, resulting in less 

       technological innovation by local workers.

II    Hamper local entrepreneurship and investment in infant industries.

III   Increase unemployment rates from unsuitable technology.

IV   Restrict subsidiary exports when they undercut the market of the parent company.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II, III and IV.

10. Barro and Lee find that, ceteris paribus, IMF lending has 

a. negative effect on economic growth during the simultaneous five-year period but has a 

    significantly positive effect on growth in the subsequent five years.

b. no effect on economic growth during the simultaneous five-year period but has a 

    significantly negative effect on growth in the subsequent five years.

c. a significantly positive effect on growth for ten years.

d. an exponentially negative effect on growth for 5 years.

11. Carmen Reinhart and Kenneth Rogoff explain the paradox of capital flows from poor to rich countries by

a. the brain drain from LDCs to DCs.

b. the prime role of political and credit-market risk in many LDCs.

c. the law of increasing returns that implies that the marginal productivity of capital is higher in LDCs.

d. the fact that the DC capital market is perfectly competitive.

12.  The IMF is an agency charged with providing

a.  technical assistance to stock market and financial market problems. 

b.  loans for post-World War II reconstruction.

c.  short‑term credit for international balance of payments deficits.

d.  bonds denominated in U.S. dollars as a loan to LDCs.

13.  In a portfolio investment

a. investors are directly involved in managing the operations.

b. as in direct investment, investors export goods and services abroad.

c. investors transfer the technology to local investors.

d. investors have no control over operations.

14.  The U.S. real food aid, as well as food reserves dropped from the 1960s to the 1980s partly because 

a. the transportation and storage cost increased tremendously.

b. proponents of basic‑needs attainment opposed food-aid.

c. U.S. farm interests wanted to reduce surplus grain stocks.

d. agricultural production suffered excessively due to weather changes.

15.  For Harvard’s Dani Rodrik, globalization involves

a. decreasing autonomy of the nation-state politically. 

b.  the increasing international integration of markets for goods, services, and 

     capital.

c.  changes of a traditional culture of a country to a western culture.

d.  giving aid to poor countries to improve their economy, politics and social status.

16.  Columbia’s Jagdish Bhagwati criticizes United States administrations’ inability to distinguish between benefits of free trade 

a. and the dangers of free capital movements for LDCs with poorly developed financial institutions.

b. and the dangers of a trade deficit.

c. and the external openness of income growth among the poorest 40 percent of LDCs.

d. and MNC domination and its effects on income distribution.

17. U.S. total official development assistance to developing countries is 

a. lowest among the OECD countries. 

b. higher currently than it was in the 1960s and 1970s.

c. is equivalent to Holland’s aid. 

d. None of the above statements is true.

18.  The balance on current account

I     equals the absolute value of the balance on capital account.

II    is financed by savings.

III   is net grants minus remittances.

IV  includes goods, services, and unilateral transfers.

a. I and II only.

b. II and III only.

c. I and IV only.

d. None of the above.

19.  Bilateral aid 

a. is technical aid given by IMF. 

b. is given directly by one country to another.

c. is aid with repayment in inconvertible currency.

d. is a loan at bankers' standards.



The External Debt and Financial Crises
________________________________________________________________________

· Some of the causes of the debt crisis have been global shocks and instability a decline in the ratio of official aid to commercial loans, inefficiency, poor economic management, overvalued domestic currencies, and capital flight.

· Lending to LDCs (especially Latin American) may be undermined by capital flight because perceived risk adjusted returns are higher in haven countries than in LDCs. 

· LDCs, especially Latin American, had an increase in their real external debt in the last quarter of the twentieth century. 
· The LDC debt service ratio more than doubled from the early 1970s to the late 1980s, but has fallen since then. 
· The exposure of several major U.S. commercial banks to losses from LDC loan write offs or write downs was substantial in the 1980s.

· The ratio of debt service to GNP is not always a good indicator of the debt burden. 

· Middle income countries account for almost four-fifths of the total outstanding debt of all LDCs. Yet the debt burden for low income countries, such as the majority of sub Saharan African countries, which have poor credit ratings, may be as heavy as for middle income countries.

· Cross-border capital movements benefited LDC recipients in the long run but, because of potential reverse outflows, increased vulnerability to financial and currency crises. 
· These financial and currency crises, also caused by large bank bad debt, current account deficits, real currency appreciation, and fast credit growth, had a negative impact on economic growth.

· In the late 1970s through the early years of the twenty-first century, developing countries with chronic external deficits required economic adjustment, imposed domestically or by the World Bank or IMF. 
· In 1979, the World Bank began structural adjustment loans and soon thereafter sectoral adjustment loans. IMF loans of last resort were conditioned on an LDC implementing an acceptable macroeconomic stabilization program. 
· Additionally, in 1986-87, the IMF initiated structural adjustment loans for LDCs experiencing unanticipated external shocks. 

· Finance officials in DCs instituted several plans for resolving the debt crisis. The Baker plan (1985) emphasized new loans from multilateral agencies and surplus countries, while the Brady plan (1989) stressed debt reduction or writedowns. 
· Debt writedowns require multilateral coordination among creditors to avoid the free-rider problem in which nonparticipating creditors benefit from the increased value of debt holdings.

· Mosley, Harrigan, and Toye refer to the IMF and World Bank as a "managed duopoly of policy advice." 

Fill-in Questions

Baker plan





________________________
basis points





________________________
Brady plan





________________________
capital flight





________________________
debt exchanges




________________________
debt-for-development swaps



________________________
debt-for-nature swaps




________________________

Debt Reduction Facility



________________________
debt service





________________________
debt service ratio




________________________
Enterprise for the Americas Initiative (EAI)

________________________
exchange control




________________________
Group of Seven (G7)




________________________
hedging 





________________________
HIPC initiative




________________________
IDA-eligible countries



________________________
London Club





________________________
London Interbank Offered Rate (LIBOR)

________________________
managed floating exchange rate system

________________________
negative real interest rates



________________________
net transfers





________________________
Paris Club





________________________
policy cartel 





________________________
propensity to flee




________________________
real domestic currency appreciation


________________________
real domestic currency depreciation


________________________
risk premium





________________________
total external debt (EDT)



________________________
Multiple-Choice Questions

1.  A country's total external debt (EDT) includes 

I   short-term debt with a maturity of one year or less. 

II   long-term debt with a maturity of more than one year.

III   repurchase obligations to the IMF.

IV   public official development assistance.

a.  I and II only.

b.  III and IV only.

c.  I, II and III only.

d.  I, II and IV only.

2.  Which of the following is NOT true about external debt?

a. External debt accumulates with international balance on goods, services, and income 

    deficits.

b. When debts are denominated in U.S. dollars, their appreciation during the 1980s and 

    1990s increased the cost of servicing such debts.

c. In the 1990s LDCs relied increasingly on aid from DCs.

d. International lenders required LDC governments to guarantee private debt.

3.  Which of the following country did not experience large capital flights from 1976 to 1984?

a. Argentina.

b. Venezuela.

c. Mexico.

d. Canada.

4.  Which of the following will NOT reduce capital flight from source countries?

a. dependable positive real interest rates.

b. higher taxes on capital gains.

c. more efficient state enterprises.

d. market liberalization.

5.  Which of the following country did NOT suffer from increased poverty from debt and financial crises in the 1990s?

a. Singapore (1994).

b. Mexico (1994). 

c. Russia (1998).

d. Brazil (1998).

6.  The debt‑service ratio is the 

a. long-term debt divided by GDP of a country in a given year.

b. interest and principal payments divided by exports of goods and services.

c. ratio of debt net of portfolio investment, financing, and foreign direct investment.

d. default and reschedule debt minus annual export revenues that must be devoted to 

    paying interest.

7.  Net transfers are 

a. investment, loans, and grants from overseas minus international resource outflows.

b. net international resource flows minus net international interest payments and 

    profit remittances.

c. international resource outflows minus international  balance of payments and profit 

    remittances.

d. foreign direct investment inflow minus investment, loans, and grants from overseas.

8.  Which of the following country was not a major LDC debtor in 2001?

a. Brazil.

b. Argentina. 

c. Thailand. 

d. Malaysia.

9.  Which of the following countries were NOT beneficiaries of Jubilee 2000 writedowns and concessional funds?

I  Cote d’Ivoire.

II   Ethiopia.

III  Nigeria.

IV  Sierra Leone.

a. I and III only.

b. I only.

c. I, III and IV only.

d. I, II, III and IV.

10.  Which of the following factors potentially increased the vulnerability to the 1997 Asian financial and currency crisis?

a. trade account surplus.

b. massive reverse outflows of capital.

c. technological transfer from DCs.

d. symmetric information in financial market.

11.  Initial conditions in the year before the crisis in Thailand, Indonesia, Malaysia, the Philippines, and Korea in 1997 indicate that 

I    capital inflows/GDP were very low. 

II  nonperforming bank loan ratios were high.

III  current account deficits were high.

IV  credit growth was fast.

a. I and IV only.

b. II and III only.

c. I, II, and III only.

d. II, III and IV only.

12.  Shortly after 1979, World Bank introduced loans that emphasized reforms in trade, agriculture, industry, public enterprise, finance, energy, education, or other sectors and were known as

a. structural adjustment loans.

b. sectoral adjustment loans.

c. internal adjustment loans.

d. external leverage loans.

13.  Fundamentalists want the IMF to lend to crisis-stricken countries on condition that they undertake fundamental structural reforms in banking. Joseph Stiglitz, however, thinks it is 

a. unrealistic for IMF to intervene in the financial markets of poor countries during the 

    crisis.

b. impractical for the IMF to loan short-term as reforms can only be effective in the middle- to long-run.

c. crucial that the IMF intervene in the reform of fiscal policy of the country and not the monetary policy.

d. None of the statements above is correct.

14. Which IMF policy toward capital flows do Stiglitz, Krugman, and Bhagwati denounce?  

a. Toleration of stock market instability.  

b. Premature capital market liberalization. 

c. Support for capital controls.

d. Excessive emphasis on growth.  

15.  Which of the following statement is NOT true?

a. The ratio of debt service to GNP is a very good indicator of the debt burden. 

b. Many large LDC debtors borrowed heavily because of their excellent international 

    credit ratings.

c. Middle income countries account for almost four-fifths of the total outstanding debt of all LDCs. 

d. The debt-burden of sub‑Saharan African countries may be as heavy as for middle‑income countries.

16. Mosley, Harrigan, and Toye refer to the IMF and World Bank as 

a. excessively committed to writing down LDC debt..

b. a managed duopoly of policy advice.

c. a U.S. monopoly.

d. the initiator of HIPCs’ debt forgiveness.

17.  The Baker plan (1985) stressed ______ and the Brady plan (1989) emphasized _____ respectively 

a. IMF decentralization; World Bank dissolution.

b. new loans from multilateral agencies and surplus countries; debt reduction or writedowns.

c. structural adjustment loans for LDCs experiencing unanticipated external shocks; renewed emphases on macroeconomic stabilization programs.

d. debt relief for at least three-fourths of the eligible HIPCs; shorter requirements for adjustment programs.

18.  The policy cartel on debt reduction refers to the 

a. screening of debtors based on their regional location.

b. World Bank requiring LDCs seconded by a DC to get loan reduction.

c. loan denial to crisis-stricken highly indebted countries.

d. None of the above. 

19.  Highly-indebted poor countries (HIPCs) include

I     Bolivia.

II    Benin.

III   Uganda.

IV  Tanzania.

a. I and II only.

b. I, II, III only.

c. I, III and IV only.

d. I, II, III, and IV.

20.  In 1990, during the Persian Gulf War, the U.S. government extended generous terms to two middle-income countries by canceling or reducing their debt.  The two countries are

a. Iraq and Iran.

b. Egypt and Poland.

c. Pakistan and Afghanistan.

d. Saudi Arabia and Jordan.



 International Trade
________________________________________________________________________

· The LDCs generally gain from a free trade policy wherein they produce goods in which they have a comparative advantage. Factor endowment and technology help determine a country's comparative advantage.

· Exceptions to the free trade argument include increasing returns to scale, external economies, potential technological borrowing, changes in factor endowment, a revenue tariff, increased employment, improved balanced of trade, greater domestic stability, national defense, antidumping, and reduced luxury consumption. 

· In the more than one hundred years since the last quarter of the nineteenth century, the commodity terms of trade of primary product exporters have probably fallen.

· Export promotion is generally more effective than import substitution in expanding output and employment.

· Rapid growth in LDC manufactured exports in the last few decades was primarily concentrated in middle income countries, such as Taiwan, South Korea, Hong Kong, Singapore, Spain, Brazil, Thailand, Indonesia, and Malaysia.

· Although the generalized system of tariff preferences and the 1970s' Tokyo Round negotiations reduced DC tariffs on selected LDC imports, these gains may have been outweighed by losses from protectionist policies set up during the 1980s. Additionally DCs increased nontariff trade barriers against LDC imports, especially labor intensive goods, in the late 1970s, 1980s, and 1990s.

· For DCs with no tariff on LDC primary products but a substantial tariff on manufacturing and processing that uses primary goods as inputs, the nominal rate of protection is greater than the effective rate of protection.

· Expanding primary exports stimulated rapid economic growth in a number of Western countries in the nineteenth century, but this approach has had a more limited impact on growth in today's LDCs.

· Although the IMF's and European Union's compensatory financing schemes have helped stabilize LDC export earnings, a common fund has not been established, and buffer stock agreements have been of limited value.

· Agricultural subsidies in the United States, European Union, and Japan are major barriers against LDC farm exports. 

· The LDCs with a foreign exchange price below the market clearing price can improve import rationing, encourage import substitution, and promote exports by depreciating their currencies. Yet the gains may be limited if domestic prices are still repressed.

· Regional economic integration among LDCs or of LDCs with DCs has the potential for limited gains in LDC economic growth. However, regional free trade, while superior to bilateral trade agreements, is inferior to worldwide free trade in global efficiency.

· Developing countries gain from integration within the Asian and North American borderless economies. 
· However, members of these economies need to ensure that they do not sacrifice their economic autonomy and gains from learning to integration as a peripheral economy within a Japanese- or U.S.-organized borderless economy.  

Fill-in Questions

Asian borderless economy



________________________
boomerang effect




________________________
buffer stocks





________________________
cartel






________________________
commodity terms of trade 



________________________
common market




________________________
comparative advantage



________________________
complete economic and monetary union

________________________
currency mismatch 




________________________
customs union





________________________
Doha Development Round



________________________
Dumping





________________________
economic integration




________________________
economic union




________________________
effective rate of protection



________________________
Engel's law





________________________
Euro






________________________
exchange controls




________________________
export purchasing power



________________________
factor proportions theory



________________________
free trade area





________________________
General Agreements on Trade in Services (GATS)
________________________
generalized system of tariff preferences (GSP)
________________________
global production sharing



________________________
Group of 77





________________________
Heckscher Ohlin theorem



________________________
import substitution




________________________
impossible trinity




________________________
income elasticity of demand



________________________
income terms of trade




________________________
infant entrepreneurship 



________________________
infant industry arguments



________________________
inflation targeting




________________________
integrated program for commodities


________________________
intellectual property rights



________________________
intraindustry trade




________________________
laissez faire





________________________
liberalism





________________________
managed floating plus




________________________
monopolistically competitive



________________________
Multifiber Arrangement (MFA)


________________________
price of foreign exchange (exchange rate)

________________________
Prebisch Singer thesis




________________________
preferential trade arrangements


________________________
product cycle model




________________________
product differentiation



________________________
real appreciation 




________________________
real exchange rate




________________________
rules of origin





________________________
single factoral terms of trade



________________________
special drawing rights (SDRs)


________________________
staple theory of growth



________________________
technological advantage



________________________
trade creation





________________________
trade diversion





________________________
Uruguary Round




________________________
World Trade Organization



________________________
Multiple-Choice Questions

1.  Jeffrey A. Frankel and David Romer found that a 1-percentage-point increase in trade to GDP

a. has no impact on income per capita.

b. increases income per person by 0.5 - 2 %.

c. reduces economic growth by 5%.

d. is negatively correlated with income growth among the poorest 40 percent of LDCs.

2.  Mosley, Harrigan, and Toye (1991) argue that early liberalization of external trade and supply-side stimulation in one glorious burst can result in 

I   rising unemployment.

II  inflation.

III capital flight.

IV budget deficit.

a. I and II only.

b. II and III only.

c. I, II and III only.

d. I, II and IV only.

3.  International trade and specialization are determined by 

a. absolute advantage.

b. comparative advantage.

c. absolute costs.

d. production possibility frontier.

Use Table 1 to answer questions 4-6

  
TABLE 1 Comparative Costs of Textiles and Steel in India and Japan







            India

            Japan


Textiles (price per meter)

            Rs. 50


Y300


Steel (price per ton)


            Rs. 200            
Y400

4.  The ratio of the price of steel to that of textiles is ________in Japan and _______in India.

a. 4:3;   4:1.

b. 3:4;   1:4.

c. 0.75; 0.25.

d. cannot be determined.

5.  India has a comparative cost advantage in

a. textiles.

b. steel.

c. both of them

d. none of them

6.  Japan has comparative cost in

a. steel.

b. textiles.

c. both of them.

d. cannot be determined.

7.  Factor proportions theory is also known as the

a. comparative advantage theory.

b. laissez‑faire theorem.

c. Heckscher-Ohlin theorem.

d. product cycle model.

8.  The product cycle model indicates that while a product requires _______labor in the beginning, later as markets grow and techniques become common knowledge, a good becomes standardized, so that less‑sophisticated countries can mass produce the item with ________labor.

a. abundant, less.

b. less skilled, highly skilled.

c. a lot of , no.

d. highly skilled,  less skilled.

9.  Japanese economist Miyohei Shinohara (1982) speaks of a boomerang effect referring to 

a. US and Japanese MNCs competing in the Asian market to get more share in the 

    manufacturing production.

b. the intensification of competition in third markets arising from Japanese 

    enterprise expansion in other Asian countries.

c. advantages of free trade supersede the costs of trade restrictions in the Asian countries.

d. tariffs, quantitative restrictions, and administrative barriers prevent a new good from  

    appearing in the Asian markets.

10. The infant industry arguments refers to a tariff designed to 

a. help foreign industries establish themselves in the local market.

b. protect young manufacturing products from foreign competition. 

c. help consumers enjoy a variety of products in the local market.

d. provide incentives for established local manufacturing firms to venture in foreign  

    markets. 

11.  The selling by Hyundai of its car cheaper in the United States than at home (Korea) is known as 

a. subsidized imports.

b. dumping.

c. internal economies of scale.

d. export substitution.

12.  The commodity terms of trade equals the 

a. (exports prices minus import prices)/ exchange rates.

b. exchange rates of country i divided by exchange rates of country j.

c. external balances/ balance of payments.

d. price index of exports divided by the price index of imports.

13.  Engel's law indicates that as income increases 

a. the proportion of income spent on manufactured goods rises and on primary 

    products falls.

b. the proportion of income spent on consumer goods rises and on capital products falls.

c. the proportion of income spent on consumer, capital and necessity goods rises.

d. the proportion of income spent on giffen goods rises.

14.  If export prices increase 5 percent and import prices 20 percent, the commodity terms of trade is

a. 0.91.

b. 0.88.

c. 0.25.

d. 4.

15.  The Organization of Petroleum Exporting Countries (OPEC) is a ________ whose members have agreed to limit output and fix prices.

a. duopoly.

b. generalized system of tariff preferences.

c. multifiber arrangement.

d. cartel.

16.  The buffer stock management 

a. secures more stable, remunerative, and equitable exchange rates for LDCs.

b. facilitates capital stock overaccumulation in LDCs.

c. buys and sells commodities to maintain prices within a certain range.

d. subsidizes commodities that are important for national security reasons.

17.  Overvaluing the domestic currency relative to foreign currency will 

a. discourage import substitution and exports.

b. encourage exports and discourage imports.

c. always leads to a balance of trade.

d. create a trade surplus in the local market.

18.  The real exchange rate is 

a. the nominal exchange rate adjusted for relative inflation rates at home and 

    abroad.

b. the price of foreign exchange divided by CPI of previous year.

c. the CPI divided by exchange rate of home country.

d. the weighting the nominal exchange rate index of each trading partner.



Development Planning and Policymaking: the State, and 

the Market
________________________________________________________________________

· A state planning ideology arose in LDCs as a reaction to nationalist perceptions of slow economic growth under colonial capitalism. 
· Development planning is the government's coordinated policies to achieve national economic goals, such as rapid economic growth. 
· Deepak Lal argues that development economics is dominated by dirigiste, those in favor of government intervention into LDC prices. 
· Planning in many LDCs has failed because detailed programs for the public sector have not been worked out, and excessive controls are used in the private sector. 
· At one pole, Soviet "controlling" planning, which took years to develop, was still subject to decentralized management discretion, even before the Gorbachev era.

· The plan and market are separate ways of coordinating transactions. Although the market allocates scarce resources efficiently among alternative means, it may not work so well as planning in considering externalities, correcting for market failure, mobilizing saving, and adjusting for monopolies. 
· Thus planning eliminates certain costs of the market but also increases large-scale diseconomies through diminishing returns to management. The choice for developing countries is usually not between the plan and the market, but between various combinations of the two. 

· Worker managed socialism helped contribute to Yugoslavia's rapid economic growth from 1959 to 1979, but 1976 reforms, increasing checks and balances and bureaucratizing enterprise decision making, hampered policy implementation and increased worker dissatisfaction. 

· Most LDCs have too few resources, skills, and data to benefit from complex macroeconomic planning models. Yet a simple aggregate model may be useful as a first step in drawing up policies and projects. 

· An input output table is useful for assessing the effects of different development strategies on exports, imports, the balance of payments, employment, national income, and sectoral investment demand and output. 

· Most LDCs with a large private sector are limited to an indicative plan that states expectations, aspirations, and intentions but authorizes little public spending. 

· In most mixed and capitalist LDCs, documents showing how to improve data collection, raise revenue, recruit personnel, and select and implement projects are more important for successful planning than planning models.

Fill-in Questions

Afro-Asian socialism



____________________________
commanding heights



____________________________
controlling plan



____________________________
current expenditures



____________________________
development planning



____________________________
dirigiste debate



____________________________
indicative plan




____________________________
input output table



____________________________
instrument variables



____________________________
market socialism



____________________________
recurrent expenditures



____________________________
rolling plan




____________________________
soft budget constraint



____________________________
target variables



____________________________
Multiple-Choice Questions

1.   Deepak Lal argues that development economics is dominated by a _______ approach that favors government intervention into LDC prices.

a. dirigiste.

b. Keynesian.

c. commanding heights.
d. soft budget.

2.  Takatoshi Ito (1992) contends that parliamentary governments manipulate the timing of ________, while presidential governments manipulate the timing of _______.

a. monetary policy; fiscal policy.

b. elections; economic policies.

c. economic policies; political policies.

d. tax collection, tax implementation.

3.  Government's use of coordinated policies to achieve national economic objectives is

a. commanding heights.
b. entrepreneurial programs.
c. public physical policy. 

d. development planning.

4.  The market efficiently allocates scarce resources among alternative ends such that

I    consumers receive goods for which they are willing to pay. 

II   production resources hire out to maximize income. 

III  the market determines available labor and capital. 

IV  the market distributes income among rich individuals.

a. III and IV only.

b. II and III only.

c. I, II and III only.

d. I, II, III and IV.

5. According to Oskar Lange’s model, socialist enterprises should produce where 

a. the monopoly profit maximization rule applies.

b. product price equals marginal cost.

c. marginal revenue equals average cost.

d. total revenue equals total cost.

6.  The input‑output table, when divided vertically, shows 

a. the inputs to each industry from other industries and sectors.

b. development planning and the required information on national income growth.

c. the planned public capital divided by feasible actual industrial projects public capital. 

d. how the output of each industry is distributed within the sectors of the economy. 

7. Worker‑managed socialism helped contribute to _________'s rapid economic growth from 1959 to 1979.

a. Yugoslavia.

b. Chile.

c. Vietnam.

d. Japan. 

8.  A medium‑term plan can be a(n) _________, revised at the end of each year.

a. instrument variable.

b. seasonal expenditure.

c. rolling plan.

d. perspective plan.

9.  Most mixed or capitalist developing countries are limited to an indicative plan, which indicates expectations, aspirations, and intentions  

a. but falls short of authorization.  

b. with immediate implementation.

c. of the central bank.

d. of implementation through foreign aid.

10.

Annual GNP growth of 6%.

Poverty reduced by 1 % point of the population

Balance of payments deficit not in excess of $200 million.

For a planner, the above are

a. achieved only through socialism.  

b. target variables.

c. bound by soft budget.

d. recurrent expenditures.

11. Polish economist Oskar Lange's model of decentralized ___________ combined the advantages of market allocation with more uniform income distribution by dividing the returns from social ownership of nonhuman, productive resources among the whole population.

a. market socialism.

b. capitalism.

c. mixed economy.

d. monopoly.

12.  Goals are achieved through ___________, such as monetary, fiscal, exchange rate, tariff, tax, subsidy, business incentive, foreign investment and foreign aid.

a. indicative plan.

b. central bank policies.

c. central planning.

d. instrument variables.

13.  Branko Horvat’s historical review of the last two and one-half century indicates that, in large part, market or decentralized socialism 

a. has failed.

b. works well in Utopia.

c. is widely used in sub-Saharan Africa.

d. is the only way to eradicate poverty.

14.  Under Soviet-type economy-wide central planning, 

a. most resources lack freedom to move to their highest value uses.

b. resources are free to move to their lowest cost uses.

c. resources owned by private entities moves to efficient use but not those owned publicly.

d. resources are privately owned by capitalists.

15.  Which of the following assumptions underlying input‑output analysis raise questions about its validity?

I    The technical coefficients are fixed, which means no substitution between inputs occurs. 

II   There are no externalities, so that the total effect of carrying out several activities is the 

      sum of the separate effects. 

III  Each good is produced by only one industry, and each industry produces only one 

      commodity. 

IV  There is no technical change.

a. I and II only.

b. I, II, III only.

c. I, II, IV only.

d. I, II, III and IV.

16.  Which of the following is not a public policy to promote the private sector?

a. Investigating development potential through scientific and market research, and natural 

    resources surveys.

b. Providing adequate infrastructure for public and private agencies

c. Creating markets, including commodity markets, security exchanges, banks, credit 

    facilities, and insurance companies.

d. Increasing market monopolies and oligopolies to help producers.

17.  A state planning ideology arose in LDCs as a reaction to nationalist perceptions of 

a. keeping balanced budget a prime target. 

b. slow economic growth under colonial capitalism.

c. minimizing public spending in the rural areas.

d. western countries’ nation-state ideology.

18.  Planning in many LDCs has failed because detailed programs for the public sector have not been worked out and 

a. governments depend primarily on their colonial masters.

b. excessive controls are used in the private sector.

c. the brain drain cost government substantially.

d. monopolies dominate in the agricultural sector.



Stabilization, Adjustment, Reform, and Privatization
________________________________________________________________________

· Many third-world countries of Africa, Asia, and Latin America can learn from Russia's, Poland's, and China's efforts at liberalization and adjustment. 
· Russia's state socialism, more developed and deep-seated than Poland's and China's, required more substantial institutional change for successful transition to the market
· Russia's legacies of consumer-goods neglect, gigantimania and industrial concentration, resistance to technological innovation, shoddy quality, quota disincentives, and information concealment were more institutionalized than Poland's.
· Peter Nolan (1995) has two explanations for the success of China's economic growth and reforms compared to Russia’s: (1) China’s pursuit of economic reforms while avoiding political liberalization (similar to other East Asian fast-growing economies) and (2) China's step-by-step approach to economic reform, rejecting "shock therapy," especially as practiced by the IMF and World Bank.
· John Ross (1994:19-28) provides several rules for liberalization policy, based on the experiences of China, Russia, and Eastern Europe. 
· In agriculture, China decollectivized much more successfully than Russia, which stifled private initiative and marketization. In industry, China encountered many of the same stubborn interests opposing liberalization as Russia did.
· Third-world countries should not follow the path of Russia or China to reform, although these countries can learn lessons from Russia and China. 
· Each developing country needs to find its own path toward adjustment and development.

Fill-in Questions

Adjustment





____________________________
balance of payments equilibrium


____________________________
conditionality





____________________________
creative destruction




____________________________
economic rents




____________________________
European Bank for Reconstruction and Development ___________________________
expenditure-reducing policies



____________________________
expenditure switching policies


____________________________
external balance




____________________________
Gosplan





____________________________
individual economy




____________________________
internal balance




____________________________
management responsibility system


____________________________ 

material balance planning 



____________________________
net material product (NMP)



____________________________
nomenklatura system




____________________________
parastatals





____________________________
privatization





____________________________
public enterprises




____________________________
public goods





____________________________
shock therapy





____________________________
soft budget constraint




____________________________
state owned enterprises (SOEs)


____________________________
structuralists





____________________________
township and village enterprises (TVEs) 

____________________________
Multiple-Choice Questions

1.  Which of the following may constitute the International Monetary Fund’s conditionality for borrowing?

I   government reducing budget deficits.

II  limiting credit creation and liberalizing trade.

III achieving market‑clearing prices.

IV  restraining public-sector employment and wage rates.

a. I and II only.

b. III and IV only.

c. I, II, III and IV.

d. None of the above.

2.  Countries with chronic balance of payments deficits eventually need to borrow abroad, often from the _______ as the lender of last resort.

a. U.S.

b. OECD.

c. IMF.

d. OPEC.

3.  According to the Brandt report, the IMF's insistence on drastic measures in short time periods 

I   contributes to low-income countries’ recovery quickly. 

II  reduces basic-needs attainment. 

III may lead to "IMF riots."

IV may lead to the downfall of governments.

a. I only.

b. II only.

c. I and II only.

d. II, III and IV only.

4. S = Savings, I = domestic investment, X = exports of goods and services, and M = imports of goods and services.

Which of the following is true?

a. S - I = X - M.

b. S + I = X + M.

c. S = I - (X+M).

d. S-I = X /M.

5.  Internal balance refers to 

a. full employment and price stability.

b. exports minus imports.

c. monetary policy offsetting fiscal policy.

d. exports equal to imports.

6.  Countries facing a persistent external deficit can 

I   borrow overseas.

II  increase trade restrictions and exchange controls.

III undertake expansionary monetary and fiscal policies.

IV  undertake expenditure-reducing policies.

a. I and II only.

b. III and IV only.

c. I, II and III only.

d. I, II and IV only.

7.  When the World Bank or IMF requires improved external balance in the short run, the agency may condition its loan on expenditure switching, that is,

a. switching spending from domestic to foreign sources.

b. devaluing local currencies.

c. increase trade restrictions by imposing quota.

d. increase government spending.

8.  Structural economists from the United Nations Economic Commission for Latin America (ECLA) emphasized 

a. contractionary monetary and fiscal policies.  

b. currency devaluation.

c. long-run institutional and structural economic change.

d. short term-adjustment with a human face.

9.  Countries such as____________, that failed to adjust to a persistent external disequilibrium, were more vulnerable to poverty, displacement, and even war.   

a. Japan and Korea.

b. Brazil and Argentina.

c. Algeria and Yugoslavia.

d. Singapore and Malaysia.

10.     In 1979-80, China first created ____________for foreigners to set up enterprises, hire labor, and import duty‑free goods for processing and re‑exporting.   

a. special economic zones.

b. liberalized trade monopoly zones.

c. economic union zones.

d. communist free trade areas.

11. Before the 1978 reforms, China had a(n) 

a. agricultural bank only.

b. urban credit cooperatives.

c. monobank system.

d. housing savings banks.  

12.  The industrial concentration ratio is the proportion of an industry’s output 

a.  produced by the three largest firms in the industry.

b.  produced in cement, machine tools and steel industries.  

c.  and labor intensities relative to labor productivity.

d. as a percentage of production and marketing.

13.  Which of the following is not a quasi-public good?

a. national defense.

b. an automobile.

c. libraries.

d. fire protection.

14. State‑owned enterprises (SOEs) are also called 

a. centralized firms.

b. government oligopolies.

c. market economies.

d. public enterprises.

15. Which of the following statement is NOT true about state owned enterprises (SOEs)? 

a. SOEs perform better with competition.

b. Successful performing SOEs in Japan, Singapore and Sweden have greater managerial autonomy and accountability than other SOEs.

c. SOEs in South Korea and Sweden generally achieve inferior economic results to those in Ghana.

d. Financial autonomy is a major factor contributing to SOE managerial effectiveness.

16. Privatization refers to a range of policies including 

I     changing part of a public enterprise's ownership to the private sector. 

II    liberalization of entry into activities previously restricted to the public sector.

III   two infant industries merging into a monopoly.

IV  franchising or contracting public services or leasing public assets to the private 

       sector.

a. III only.

b. IV only.

c. I, II and IV only.

d. None of the above.

17.  A development bank based in London, which loans funds to governments of Eastern Europe and the former Soviet Union is the

a. Transitional Monetary Fund.

b. World Bank.

c. European Bank for Reconstruction and Development.

d. OECD.

18. A critic of “shock therapy” to transition economies, Vladamir Popov, contends that shock therapists put a heavy emphasis on 

a. introducing the reform package at once to ensure that it became too late and costly to reverse the reforms.

b. agricultural reform rather than industrial reform to overcome food insecurity.

c. the creation of a small-scale private sector and small independent banks.

d. attempts to gradually remake institutions.

19. Pathologies endemic to the Soviet bureaucracy included secrecy, formalism, cumbersome procedures, rigidity, and the tendency to concentrate on control rather than performance. The party controlled the state by using the _________, the power to recommend and approve managers in administration and enterprises, of appointments and promotions to control access to government positions.  

a. Gosplan.

b. Gosagroprom.

c. nomenklatura system.

d. parastatals.

.   
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